
BEMR 
MODEL BESA 

BEX 



B EMR · BES R · BEX �:ifil§IJJftlfi � :://' 

�jm/{-'Y tJ A 1' 

�it�[��)....................................................................................... 1 

<D"'-•;, t-*� "-•;, t,::t.11"<-IMI� ............................................................ 4 
@..tf111, TIIIIIMI� · ···· · ·· · ·• · · · ·• · · · •• · • · · · · · · · · · · ·•• · · ···· · ···· · · ··· · · · · •· · ··· · · ··· · · ··· ··· ··•· · · 6 
'00t$ • 3R I:: :,,•m I •• · · · ·• · · • ·• · · · · · • · · · · · ·•· • · · •••· · · ••• · · ••• · · • · •· · ••• · · •· • · · ••· ·•· · •• · · • 8 

@jft$ • 3R 1:: :,,•• n • • • • • • • · • • • •· • • • • • • •·· • • • •· • • •··· •· • •·· • • •· • • • • •· • •·· • • •· • • • • • • • •· • •· • • • 1 o 

@� -tr :,,"J":flJUl I ( � f;p ············;···························....................... I 2

@� -tr :,,"J";jltl II. ( 3 *&t) ............................................................... 1 4
�il:!:!Ml� (5*&t) ........................................................................... 1 6 

�il!MI� ( 7 *&t) .. · · · .. · .. · · · · · .. · .. · · ... · · ... · · ...... · .. · · · · · · · · · .. · ... · · .. · · · · ..... · · · ... 1 8 

�il!MI� ( 3 *&t) ··········································································· 2 0
(I)iffi;fltJt M R · · · · · · · · · .. · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · • · · · · · · · · 2 2

(I)�ffl;jltl. ( s R) . . . . . . . . . . .. . . . .. . .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 2 4 
X 

@7-:;:1'11, • 7 v-A ........................................................................... 2 6 
@���;jltl ·· ····· ·· ··· ··· ·· ····· ··· ·· ·············· ···················· ··· ·· .......... ........... 2 8 

®r*t11tt��li: •····································································......... 3 o
OOiffi;jltl (V • H:1.iJPJ) I ............................................................... 3 2
@r-1:�;jltl (H:1.iJPJ) II ··························································"······ 3 4 
OO!l&ib;jlDJ < H 1.iJPJ) m •· • •·· • • •· • •·· • • • •· • • • • • .. • • •· • •· • • • •· • • • •· • •· • • •·· • • • •· • • .. •· • • •· 3 6 
�;jlfft (V:1.iJPJ) N ·································································· 3 8 

@lljlJtaPIMI� M R · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · 4 0 
@llilJtaPfMI� S R · · · · · · · · · · · · · · · · · · · • · · .. • · · · · · • · · • · · · · · · · · · · · · · · · · · · · • · · · · · · · · · · · · · • · · · · · · • · • · · • · 4 2 
@flllJtaP!Mli.f. X · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · • • · · · · · • · · · · · · · · · · · · · · · · · • · · · · · · · • · · · · · · · · · · · · · · · · · 4 4 
®*17.IV�lr I ··········· ...................................................................... 4 6 
®*t1JV�Ji: II ................................................................................. 4 8 

®*17.1 V �!&lb$ m (M R) · · · ··· · · · ·· · · · · ·· · · · ·· ·· · · · · ··· · · · ·· · · ·· · · · · · ... · · ... · ·· · · · · · · · 5 0 

®*t1JVtffi$ m < SxR) ································································ 5 2 

®"-t�� ····························································································· 5 4

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



(B EMR) 

.• 

. " 

. . 
-1-From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



(BE S R) 

-2-

... 

tJI; 
\i:ll 

r 

i • From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



.. 
! 

I 
·;I 12fi:(gl ( 8 EX) 

I 
{ 
le 
·r 
I 
l 
i 
~ 
I 

f 

-3-From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



11 

-4-

r 

't- • 

! 
.,, I I" I 

, 
i 

I 
I 
I 

I 

!~ 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



-~ ~iii-~ ~13-~ • c :g MD {118 ~ a a 

1 A IJ IIJ t) ft}l)f!J\;f.:; ( s M 3 /16LI.J28 X 7) 

2 2516C KC 2 50 1 6 0 ~ ·y -:lfJ/{- 1 

3 2511F KF 2 50 1 1 0 J:.fdJf11{- 1 

4 2591NOO KN 2 50 9 1 0 tt~ (tj~) 1 

5 2590FOO KF 2 50 9 0 0 ttfiJ.I: ;( * :./ ( S M 11/64LI.J40 X 7 ) 2 

6 1\AI/\ftJ.I:.:f.:J M6X6 . 
7 2251F KF 2 2 0 51 0 tJ"?Jl:;( - 1 

8 A IJ IIJ IJ ft SJ!.!J\ * :; M4X8 

9 2231F KF 2 2 0 3 1 0 tJ"? HSL-A~M1Q 1 

2275FOO KF 2 2 0 7 5 ·a iJ"?KHS 1 2-RYNW (7"7c/) 1 ( r.; giJI± fi) 

1 0 2241F KF220410 :f.t::,_, 1 

1 1 2237F KF 2 2 0 3 7 0 :f.t:':,_,-7-A (MK- 3) 1 
' 

1 2 A IJ JtJ IJ ftlf!/j\*:; ( s M 11/65LI.J40 X 5) 

,G13 A IJ IIJ IJ ft 1\1.1: ;( * :; ( s M 11 /65 L.lJ 4 0 X 4 ) 

wr 

-5- (HI)5. 250 From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



i_ 

11 

.• 

-6-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



-~ ~liMit~ A EJ 11 ~ " 
Cl 

~ .@life OJI 't ·aa 

1 91207 A 9 0 1 2 0 0 7 :IJ~ll:.;lffl*:Y 4 

2 2343NOO K N 2 3 0 4 3 0 9 0° -77"./-7 1 

3 2342F K F 2 3 0 4 2 0 :IJ.L.ll:;l*:Y 1 

4 2341NOO KN 2 3 0 4 1 0 ~1:"'"./n.L.G 1 

5 2214F KF 2 2 0 1 4 0 ..ttm ;ru ;l 7 )f, 1 
! 

6 A IJ WIJ" ftll:;l * :Y ( s M15/64tlJ28X 10) . 
7 1\1l;J"ftll:.;l*:Y M6x8 

8 2211NOO KN 2 2 0 1 1 0 ..ttm 1 

9 2216F KF 2 2 0 1 6 0 ..tfdl tP ra1 ;l 7 Jv 1 

1 0 2218F K F 2 2 0 1 8 0 l:fm:IJ7- 1 

1 1 1\1l;)"ftll:.J*:Y M6X6 

1 2 A IJ IIJ '1'-ftlJ!!J\* :Y ( s M 9 /32tlJ20 X 38) 

1 3 2212F K F 2 2 0 1 2 0 ..t fa¥ -y - ( Jj\) 1 

1 4 1\fiJ"ft.il:J.:f.:Y M 5 X 1 0 

1 5 2213F KF 2 2 0 1 3 0 ""-"'Jii--¥..Y- 1 • 1 6 2215F K F 2 2 0 1 5 0 ..ttmfl ;l 9 )f, 1 

l 7 2219F KF 2 2 0 1 9 0 l:.fdi~:IJ7- 1 

1 8 2221C KC 2 2 0 2 l 0 "ftm 1 

1 9 2245F K F 2 2 0 4 5 0 ..tfdllllm:.:f.:Y 1 

2 0 2246F K F 2 2 0 4 6 0 -"'-"'Jv¥..Y- < 7 r fl!l..t) 1 

2 1 A 1J i!J IJ fj"5J!1j\ ;f. :Y ( S M 15/64 tlJ28 X 24) 

2 2 2224F KF 2 2 0 2 4 0 7 rflll J 7 Jv ..t 1 

2 3 2225F K F 2 2 0 2 5 0 77'fi!l 1 

2 4 2223F K F 2 2 0 2 3 0 "Fflb J 1 Jv (HrJ) 2 

2 5 2247F K F 2 2 0 4 7 0 -"'-"'Jv¥..Y- C77"fdl"f) 1 

2 6 2248F KF 2 2 0 4 8 0 """" )f, -¥ -y - ( "f tm) 1 

2 7 2222F K F 2 2 0 2 2 0 "ftlh J 1 Jv (fl) 1 

• 2 8 2229F KF 2 2 0 2 9 0 "ffl!l:fJ7- 1 

2 9 A IJ IIPJ M 11:. J * :Y ( s M 1 / 4 tlJ40 X 4 ) 

3 0 1\1l;J"ftlf:.;l;f.:Y M 6 X 1 2 

3 1 2227F KF22.0270 -¥..Y-:tJ,-:--t? ·1 r 1 

--- -- ·---- -

-7- (HI)5. 250 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



-8-

.. 
i ~ 
I 
! 

I 

i -From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



-
-~ 

~ilfitl-1} Cl El ·~ 
$ Cl t1 {!lfl mr :If . a a a a 

1 2322G KG 2 3 0 2 2 0 ;Rt:/Assy ( 7 *ft) 1 

2322C KC230220 ;Rt"'/Assy ( 5 **) 1 

2322F KF230.220 ;Rt"'/Assy ( 3 **) 1 

2 2383T01 MT230831 7(1:'/ (7*~+) 1 

2349T01 MT230491 7(1:'/ (5*ft) 1 
.! 

2385T01 MT230851 ;Rt:/(3*tf) 1 . 
3 2350F K F 2 3 0 5 0 0 ;Rt"'/:::JcAssy - 1 

~ 4 2358F K F 2 3 0 5 8 0 7( t: / tl ;( y ( 7 **) 7 

2358F KF 2 3 0 58 0 ;R t: / tl ;( y ( 5 **) 5 

2358F KF 2 3 0 58 0 7( t: / tl ;( y ( 3 **) 3 

5 7\tf:IJ'(f;j"J!:)*~ M5X5 

6 1\11.1 7- ':1 ~ 7/32 

7 2351F02 KF 2 3 0 51 2 7(t"'/Y.y7~ 1 
•'; 

8 2352F01 K F 2 3 0 5 2 1 ~ t: ;_, J ~ 1v 1 

9 7\11JJ'(f.tl1:*~ M5X6 .. 
1 0 ,.{;f.i!i?£ 6 

1 1 2361G KG 2 3 0 6 1 0 us c. ':1 7 l.o{- 1 

1 2 2363F KF230630 C•:~7l.n{-y1'7~ 1 

1 3 .ll!~itt 5 

1 4 1\PJ ;f.Jv ~ M 5 X 1 0 

1 5 2364F KF 2 3 0 6 4 0 c ·:~ 7)!1UaMS7 7 /7' 1 

1 6 31!~itt 4 

1 7 1\PJ 7- ':1 ~ M4 

1 8 7\ffJJ'(f;tJ!:;!;f.~ M4X6 

1 9 2365F K F 2 3 0 6 5 0 0•:~71/J{-777"·:~~ 1 

2 0 1\PJ 7- "J " M8 

2 1 lJ!Hliitt 8 
:.;; 

2 2 1\11.17- ':1 ~ M 1 0 

2 3 lJ!Ht!itt 1 0 . . 
2 4 3338F01 K F 3 3 0 3 8 1 tta§ till'!: 1' •J ·:~ 7' 1 

2 5 3341C KC 3 3 0 4 1 0 c·:~7i!Uac·:~ r 2 

2 6 2366F01 K F 2 3 0 6 6 1 0 ':1 7 v ... {- A -j' IJ / 1' 1 

2 7 2367F K F 2 3 0 6 7 0 0 "J 7 v ... { - A -j' IJ / 1' ~:· / 1 

~ 

--

; ~ 

-9- (HI)5. 250 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



40 

,1)' 

2"'i 
m 

ti•. 

-10-

' . 
I ~ 
I 

! 
i 
I 

I 
I 
, .. 

~4 

I 

I 
I 
l 

I 
' I 
i -.. 

~~ 

i •• 

. i -
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



, .. 

n 
•-~t liiliiiS"t §. ~ • -It 1111 dl, :g 

1 2301F KF230010 ftfl-t!"11-

2 2318F KF230180 ftfiA ~ 1J ::,..'}' 

3 2302G KG230020 Jill%. (1-::,..J-::,..) 

4 2321F KF230210 jljl%.A~IJ ::,..'}' 

5 2392F KF230920 0 1) ::,..'}' <*> 
6 2391F KF230910 0 ., ::,..'}' (1)\) 

7 2393F KF230930 :l:L?:t::...?:..-"1'-

8 2323F KF230230 tt.t.J 

9 2324F KF230240 tt.t.J .t. ~ ( S M 9 /64) 

1 0 232SF KF230250 ft DB K5 1 I 

11 2332F KF230320 CIIJti..tJ ~ Jv 

1 2 2331F KF230310 CIIJti 

1 3 2334G KG230340 ftf'41~~ .... 

t 1 4 2345F KF230450 9 o· ?7::...?-t.:J 

1 5 23DOPOO HP231300 ??:...?c.,,: 

1 6 23D7POO HP231370 lUi 

I 7 23D1POO HP231310 llflffil 

I 8 23C9POO HP231290 la.:rt:::... 
1 9 2348F KF230480 I{IIJflbf!.:r 

2 0 2312F KF230120 :..--•) ::,..'}' J ~~~-

2 1 91011 A9010011 ~7~::...'J'(SSA-2015F) 

2 2 91123 A9011023 A7AI-~7V::...'J'~D(GSI528) 

2 3 91121 A9011021 A7AI-~7,::...'J'(NTB-1528) 

2 4 2333F KF230330 mMMrJ~Jt, 

2 5 23G5N01 KN231651 -lt'~71§lfil!l ( 3 *It> 
23G6N01 KN231661 -lt'~71§lfil!il ( 5 *ft) 
23G7N01 KN231671 -lt'~71§1fil!il ( 7 *ft) 

• 2 6 23HONOO KN231700 IIDfil!l7 ~ Jv t- < 7 *It> 
... 

2 i 3338F01 KF330381 .t.Utlfl; 'J' IJ ., "f 

2 8 3331C K C 330310300 IIDfil!lilfli c ., r L • 2 50 

2 9 91205 A9012005 .:z..:.:f(-IJ,:) p-(::,.. f- Nl!BRD4 ·020N ( 1 911 § ) 

91203 A9012003 .:z..:.:f.-Jv~ a-f::,.. 1- NMBRD4·020L <iUH1D 
3 0 23D4POO HP231340 IIDfiti ~ B -( ::,.. " 1:"::,.. 

3 1 ~1!J7\t-t.li:.J.t.:J M5X5 

3 2 A 1) Ill t} f't .11:. J .t. Y M6X6 

3 3 iitfifl 4 

s 4 1 ~~~t}t-t•+•:J(SM9/64ili40X8) 

3 5 ~1117\t-t:f.Jt-1- M4X8 

3 6 ~#111-'lll- M5 

3 7 ~11!1-'lll- M4 

3 8 91122 A90 11 022,A7AJ-?.,:,.,.- (AS-1 528) 

3 9 I2315F K F 2 3 o 1 5 0 j ttf'41.:r.,. ., :1 
4 0 j23H3N01 KN231i31 I :t!~7@1~fiA s s y ( 7) 

123H2N01 KN231721 j-lf~7@1fil!i!Assy ( 5) 

l23H1N01 KN231i11 i -lf"'7IIDEI!lA ~ s y C 3) 

·f,· 

•• • ,.. 
NX1 

NXl 

NXI 

NX1 

NXS 

NX 1 

NX1 

NX1 

NX1 

NX1 

1 

1 . 
1 

1 

1 

1 

1 

I 

1 

1 

2 

2 . 
2 

1 

I 

1 

1 

1 

1 

1 * 
1 

1 

1 

jNx1 

I 1 I 
! 1 

·i 
I I 

'HIS. 250 

a-~t Bma~ B ~S-It 

4 I 91422 A9014022 

' 

D-1 2 

I 
I 

' 

I 

'" 

• 
Wtl 

B ~ 

I. •· 

n 
lilt • 't 

2 

I 
I 
I 
I 
I 

I 
l 
I 

l 
I 

I 
i 
' 
i 
l 
! 
i 
i 

I I I 

i I 
I 

! l 
I i 

i 
: ! 

-11- HI 5. 250 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



2 

3 

7 I 

'll l___ ~ 

' 
~.~·~) 

21 ~· 

9 
12 

10 

8 

- 12-

•) 

,r 

-
. . 

. .. 

= 

. . 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



@ :; .y / -:1~'" I ( 5 *~. 7*~) 
11-l} llifiilt~ 

Cl El 11 -l} $ Cl 
~ Milt {jfft ~ RA RA 

1 24C1POO H P 2 4 1 2 ·1 0 T / Y a / 'r - 7 JlliJ "~- 1 

2 2483POO HP241130 r/Ya/~-A. (5-ft) 1 

2484POO HP241140 r/Ya/~-A (7f*ft) 1 

3 2403F KF 2 4 0 0 3 0 ;t:- -\" / of! 1) / ~ t:• / of! '1 r 1 

4 ~flJ -r ·1 t- M 1 2 

5 -¥m~ 1 2 . 
6 ~flJ 1\ ft ;f. J!l " M 5~ 1 5 

7 2402POO H P 2 4 0 0 2 0 Y.Y :..tt:•:..t~-t?·1 r (BESRH) 1 

8 23D3POO H P 2 3 1 3 3 0 'JvJ-11'='~-A. 1 

9 2443F KF240430 J...-,r{-$!t'r 1 

1 0 2444F K F 2 4 0 4 4 0 o-9- 1 

1 1 2445F KF240450 o-9-'r-A 1 

1 2 A 1) 1!J ~ ft lJ!Ij\ * Y M4X25 1 

1 3 -¥m~ 4 

1 4 2449F K F 2 4 0 4 9 0 A" '1'~-..:r..;t:--t?/J'JI{- 2 

1 5 2448F K F 2 4 0 4 8 0 A. r '1'~-..:r..;t:--t! / 2 

1 6 2442F KF240420. o-~-v'"- 1 

1 7 2461F K F 2 4 0 6 1 0 0 - ~ IJ - '/ v J -1 t:' ( 3 E R 2 5 - 3 5 ) 1 

1 8 ~111 j- '1 " M3 

1 9 ""*m~ 5 

2 0 -¥m~ 5 

2 1 A IJ !IJ I? ft lll!J' * y ( s M 9 / 6 4 LIJ 4 0 X 8 ) 

2 2 91009 A 9 0 i 0 0 0 9 ~'7•J :..-~· (S SA- 2 0 1 5 H) 1 

2 3 2447F KF240470 IJ / ~-J- '1 r ( lj\) 1 

2 4 2446F KF240460 1) / ~-j- '1 r <*> 1 

2 5 ll!.111!& 3 

-13- (HI)5.250 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



-14-

I 

I 

y 

II 

... 

. . 

•. 

~ . 
I 

I 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



11-ij- 18Jifii11-ij- a El 11-ij- i$ a :g miD {Ill :~t· a a a a 

1 24BOPOO H P 2 4 1 1 0 0 !) -r :;-j'•J v J 1 ~j]J{- 1 

2 ~ 1fJ 1\ M :r. Jv ~ M5X20 

3 2403F K F 2 4 0 0 3 0 .:f -r "./ -t! IJ "./ ~· t:• "./ -t! ':1 ~ 1 

4 91009 A 9 0 1 0 0 0 9 "" 7 IJ "./ ~· ( s s A - 2 0 1 5 H ) 1 

5 2447F K F 2 4 0 4 7 0 IJ "./ ~· -}- •:J ~ ( lj\) 1 

6 2402POO H P 2 4 0 0 2 0 !.J-r:.-t·:.-~-t!·:~~ (BESRH) 1 . 
7 2446F KF 2 4 0 4 6 0 IJ / ~·-}- ':1 ~ <*) , 1 

. . 8 A IJ !I) f') ftjJ!Ij\*!) ( s M 9 / 6 4 t1J 4 0 X 8 ) 

9 2442F KF 2 4 0 4 2 0 o-7- (/1'\- 1 

1 0 2461F K F 2 4 0 6 1 0 0-7 IJ- 'JvJ1 ~ (3ER2 5-3 5) 1 

1 1 ~llJ 1\M :r. Jv ~ M 5 X 1 5 

1 2 '{*fill?£ 5 

1 3 iJ!.Eili! 5 

·- 1 4 lJ!fii! 3 
) 1 5 ~1'J-}- ':I ~ M3 

1 6 A IJ !I)., ftlJ!!J'*!) M4X25 

1 7 ~HJ!i! 4 

1 8 2449F KF 2 4 0 4 9 0 A~ •:JI~-..x...:f-t! /j]J{- 2 

1 9 2448F KF 2 4 0 4 8 0 A~ •:JI~-..X...:f-t! "./ 2 

2 0 2443F K F 2 4 0 4 3 0 (/J{-~7" 1 

2 1 2444F K F 2 4 0 4 4 0 o-7- 1 

2 2 2445F ·KF240450 o-7-7"-A 1 

2 3 23D3POO H P 2 3 1 3 3 0 'JvJ1 ~"-A 1 

) 

-15- (HI)5. 250 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



-16-

i 
i 
I 
1 .. 

~~ 
i 

i 
j 

I 
j , . 
I 

I 

! 

i " From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



-~ 
lmifi11-l} Cl § 11-1} ~ 

Cl :g {Ill{ • ~ a a a A .. 
1 24A2G KG 2 4 1 0 2 0 1 ·y J. -r :..- y ;l :..- m * ~ R u s 5 

2 2481POO HP241110 7'/Ya/i;(5) 1 

3 2486POO H P 2 4 1 1 6 0 ..1: * ttt tfHi ..a 5 

4 24D7P01 H P 2 4 1 3 7 1 r / y a /.7-A -:tv-" ( 5) 1 

5 24D9POO H P 2 4 1 3 9 0 7' / Y a / 7 - A 7" - 7 JJ., 1 
& ; 

6 55C0150 EBY00150 3 7 2 0 A..·~ t:';f-t-,.... 1 . 
7 2489POO HP241190 m 2 **R-:tv- t- c 51 1 

. . 8 24E5POO H P 2 4 1 4 5 0 * ;m: 7 .r. '"' " n t-t -:1 v - t- ( 5 *) 1 

9 2487POO H P 2 4 1 1 7 0 ~ 1 *~Pi ( 5) 1 

1 0 24E7POO H P 2 4 1 4 7 0 * li 7 .r. '"' " ( 5 *) 1 

1 1 24B5POO H P 2 4 1 1 5 0 ±i; (*yf:t) 5 

1 2 24E1POO HP241410 ~-{ ~ JJ.,:t;\*~7- 5 

1 3 24EOPOO H P 2 4 1 4 0 0 r :..- Y :~ :..-a 7 ~ Jv 1 

1 4 2562POO H P 2 5 0 6 2 0 ifijfJ..-{- ( 5) 1 

1 5 2493F01 K F 2 4 0 9 3 1 kultR-T t/> 1 1 (7JJ.,~j-) 5 
... 

1 6 2558P01 H P 2 5 0 5 8 1 ifijfJ..-<-*ii:IJ-1,.... 1 

1 7 2505POO H P 2 5 0 0 5 0 *mm~-:tc:..--:tv-1--ASSY(UF) 1 

1 8 5140C KN51040012300 77 ':1 t-7-:tJJ., S R- 1 2 p 3 0 0 1 * 
1 9 +*1\:ftj-~Jj\;f. y M3X4 

2 0 +*I\M9 ·:~1::":..-~* Y M 3. 5 X 8 

2 1 A IJ !IH> M .11:. ;1. * y ( s M 11/64LlJ40 X 5. 5) 

2 2 +*1\:M t- 7 A'J'* Y M4X6 

2 3 +*I\M7~'1'* Y M 4 X 1 0 
. 

2 4 1\ 1f:J 1\: M <f. Jv t- M 5 X 1 0 

2 5 24G1FOO K F 2 4 1 6 1 0 ifiifJ..-<-ASSY 5** 1 

-17- (HI)5. 250 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



- lR-

' . 

:)1. 

·. 

i From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



@ *ili~~ (7*it) <* rttamr~ J:? "t' dl:.1ltJ<a«.o> 
3-ij- ISJiiHI-lf ~ 1§1 -ij $ g 

~ {llfl {liB :if AD l 
1 24A2G KG 2 4 1 0 2 0 1 '1 ;l 7 / ~ a / m * * 1*1 u s 7 

2 2482POO H P 2 4 1 1 2 0 7/~a/f::l (7) 
I 

1 

3 2486POO H P 2 4 1 1 6 0 1: *ttl tfHft¢.t 7 

4 24D8P01 H P 2 4 1 3 8 1 7/Ya/7-A.:tv-~ ( 7) 1 

5 24D9POO H P 2 4 1 3 7 1 7 / ~ a / 7 - 'A 'r - 7" Jv 1 .. 
6 55C0150 E B Y 0 0 1 5 0 3 7 2 0 A,. •y t:.r.-,.: 1 . 
7 24COPOO H P 2 4 1 2 0 0 ~ 2 R~ml*l :tv- r f: 1) 1 

8 24E6POO H P 2 4 1 4 6 0 *lll7 :r.. Jv ~•t-t:tv- ~ ( 7 *) 1 

g 2488POO H P 2 4 1 1 8 0 ~ 1 *~*fk.l ( 7) 1 

1 0 24E8POO HP241480 * llt 7 :r.. '"' r < 1 * > 1 

±il <* :/ft) 1-

1 2 24E1POO HP241410 ~ ~ -v JL-~;'(~llldf 7 

1 3 24EOPOO HP241400 .:;-. / ~ a / il7 ~ Jv 1 

• 1 4 2563POO H P 2 4 0 6 3 0 iliin,.<- < 1) 1 

1 5 2493F01 K F 2 4 0 9 3 1 ;'fulU~Ff ¢> 1 1 (7 '"" ~ 7-) 7 

-: 

.. 1 6 2558P01 H P 2 5 0 5 8 1 iliitJ,.<-Ifua71~ I" 1 

1 7 2501G KG 2 50 0 1 0 *Wm~:tc/:fv-rASSY (US) 1 

1 8 5140C KN51040012300 7 7 •y ~ 'r - .,. )).., S R- 1 2 p 3 0 0 1 * 
1 9 +=¥=1\Mr~'l'* :/ M3X4 

2 0 + * 1\ M 9 ..., t• ;., 7' * :/ M35X8 

2 1 A.'JIIH>ftJ.l:.J-*:/ (SM11/64tl.J40x5.5) 

2 2 +=¥=1\M ~ 7 A.'l'* :/ M4X6 

2 3 +*1\M:J-~'1'* :/ M 4 X 1 0 

2 4 1\ ~ 1\ ft ;f. )).., ~ M 5 X 1 0 

2 5 24GOFOO K F 2 4 1 6 0 0 iliin,<-ASSY 7*tt 1 

-. 

.. 

--·· 

-19- (HI)5. 250 

....... 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



-20-

. 
s 

. 
= 

• 0 

& .. 

... 

· . 

.. 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



-~ 
llifi11-f} Cl 13 

-~ 
$ Cl :g milt {I :Sj AA IZR 

1 2406F KF 2 4 0 0 6 0 1"JJ.7/Y:~/.Ifi:~Uf.9T 3 

2 2412C KC 2 4 0 1 2 0 .:r;...-y:;~;_...-f:t (3) 1 

3 2404F KF240040 tl!*ilf~ "J ,.. 3 

4 1\P:J/\:M.ll:J.-*:/ M5X8 

5 2491F KF 2 4 0 9 1 0 kulitit:fi ~8 6 

6 2439F KF 2 4 0 3 9 0 ~ii7"v- t- (U) 1 . 
7 5140C KN51040012300 7 7 ·:~ t- 7' - 7 Jv S R -1 2 p 3 0 0 1 * 8 55C0150 E B Y 0 0 1 5 0 3 7 2 OA..·:~ 1"¥- I" 1 

9 2408F' KF240080 lmEIIIl~*l!J=fH 3 .. 

1 0 2507POO HP 2 50 0 7 0 *fiJID..z.7"o/ ASSY (U) 1 

1 1 2493F01 KF 2 4 0 9 3 1 ~llitit:ti ~ 1 1 (7 Jv ~ +) 3 

1 2 2558P01 HP250581 iJiinr~-*lli:ll-1' I" 1 

1 3 2568POO HP 2 50 6 8 0 iJijjJ,{- ( 3) 1 

I 
1 4 1\ 1l:J 1\: M ¥ Jv t- M 5 X 1 0 

1'5 1\P:J 1\M;Y- Jv t- M 4 X 1 2 

1 6 A IJ ~IJ t) f.t}L.lp.lj\*:; ( s M 9 /64Llr40 X 8 ) 

1 7 +:¥1\:M~ 7'1'*:; M3X6 

1 8 24G2FOO K F 2 4 1 6 2 0 ilii:tJ,{-ASSY 3:cfi:tt 1 

... _ f--o·---·· 

-21- (HI)5. 250 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



(j) l!Kihtltilt ( 8 E M R) 

I ' 

-22-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



... 
'• 

(JJ!Ii1JIIM (BEMR) 
a-ttjrmiiia-ttl a. !!) .... • a. fi Gilt • !It 

1 "'111/tf:tlffllfl- M4X12 
•-ttiiBiiii·~ a. 0 .... II A $ Gilt Gl !It 

4 6 "'lll~f:tlffJI,I- M&x35 
2 '"*ll* 4 

4 1 ••• 6 
3 ••• 4 

4 8 31T2C01 KC312921 ~~::::~-r-c••~-lh2 I 
4 31DQNOO KN314540 ""Jt, 1- "'"- I 4 9 "'ll;'tf:tJI:JI.:t.:J MC x8 
5 +~tcf:t I-~ Alj';t. :; M4X8 50 "'ll;'tf:t:tfJI,I- MSX25 
6 '"*SH~ 1 2 5 1 3204F KF320040· ii~Mil:fi ASSY (If\) 1 
7 .IJlll* 1 2 

3205F KF320050 ilf;tflll§;fi ASSY <*> l li:lfDS~l!.lft 

8 31T4NOO KN312940 ""Jt, 1-'h,<-A'T- 1 52 3211CD1 KC320lll ilt;t~.,.71- 15X4000 2 * 9 "'JIIf(Jt-1- M8X25 53 3291F KF320910 I/J1S'h7- 1 li:lffli!II~I!Jft 

I 0 '"*Sii! 8 54 ~lll7\f!t.d:JI:;.:J M6 X 6 
11 .IJlllfl 8 55 3251F KF320510 ilfit~~- '*~~-) 1 
1 2 91117 A9011017 tail;.:..:. "I,. BLF204 (FYH) 3 56 3252F KF320520 illi!·~-~7':./?' I 
1 3 ~111/tf:I'Jf(Jt,j- ~8X25 . 57 ~111;-tf!tJI:.JI;t.:J M6Xl0 

I 1 4 3231C IC320310300 il~~·7 ,:'h,<- L•215 1 I * 1 5 31FIHOO KN315130 ?'~-"'ri("'~Afl!l.;l:8 1 

58 ~,:1!;'\:f:t:f,Jt, 1- . M 6 X 2 2 

59 31D%P01 HP314631 ~-9 -?'-•1- CMRH. 0. 55 KW). 1· 
1 6 31£DPOO HP314670 lllttfi;;ttt 1 6 0 92027 A9020072 JilltiV""Jt-1- 3V-530 1 
1 7 31FVNOO KN315110 ~-9-IK-FBK8-~-~"n VF 3 200V 1 6 1 "'lll:tfJI,I- M12X30 
1 8 lJZllfl 6 

1 9 "'IIJ/tf:t:t!n.t- M4X8 -
2 0 31ASKOO KN31.3670 I§JEJI~"""" (A) 1 
2 1 91266 A9012066 Cll.t.biQ (tJ!IIIh6 I 2) 1 
2 2 91003 A9010003 ""7 '1 ':/ ?' ( 6 0 0 I z z ) 2 
2 3 31S5COI KC312851 Cllrt- •1- ' I I 
2 c "'"7\f:tJflJt,t- M6X14 I 
2 5 "'A+-,t- M6 I I 
2 6 3293C IC320930570 ilff~ ... 7 t-'h,<-tl L•570 1 I 
2 1 "'trl7\f:tlfi'J1,l- M8X20 

a 2 8 31L9C K c 3 I 2 1 9 0 I 7 .( t: 7 - ?'- IJ - I I .._. 
2 9 j3UIOC IC31~2200j7.ft:7-~1'71- t I 
3 0 31111C KC312210I7.f~7-A7'- 1 I 

I I 
I i i l j 

I 

I i ! i I 
3 1 31SINOO KN312810j?'~-.:t-:t!"'~A t I 
3 2 13mcot KC3l29tt 1~';/.:1-r-c••~-~~ 1 
3 3 "'IIJ1Cf!t.t.I:J!;t.;; MSX8 I 

I 
3 4 3121100 WW310210 jijnlJ!.:t-- 6X8X35 1 I 
3 5 31S2NOO jKN312820I?'~-+~•71-

I 1 i 

I I ; I 
i t 

! i I l I 
i I I I I 

I I 
i. I i I ! 
I ! i I I I 

3 6 32558 IHH320550 ..J:fl!li!ti'h "I?' IJ ':/ ?' 1 I f i 1 i I 
3 7 3259C KC320590 "':/ t:?'-•1- I 1! 
3 8 I "'1117\f:t.t.I:J!:;.;; M 6 X 1 2 I 

I i ! I 
i I 

I I I i I ! 
3 9 '"*&* 6 I ! i i I 
4 0 51A21100 KN511020 :t!:J~11':/:J-r-os1 ~a am 1 I I i 

, 
I 

4 I l"'l't:f.Jt.t- M10X25 I i 
c 2 ! I !.IJl&H~ 1 0 I ! 
c 3 31S9C IKC312Bsoj~':/:J-r-§~fi 

1 i* 
" " 1 

I ! +:!it1Cf:t I- 7 A'''*;; M c x 1 5 ! ! 
" 5 IUCOM01 lK~1 11201 !~-9-..,.-~~""-9-iMR. f). 55 KW\ ! 1. 

I 

I I I 

I 
I 

I i . 
; ! I 

i 

> . ! 
' 

; 

-23-
.. ,. HI , .• ::0 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



38 

• 6 

11 

9~~ 12~)'\t~~~~l 

51 

-24-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



-~ Bm•-tt B a•~ • .v. - ___ 6 liD • 
1 ~11J~ft:f,Jt,J- M4Xl2 ---

-- -
2 .~<.:t.a• 4 

> 
-- -

3 ••• 4 

4 31DQHOO KN314540 I'{JI, .. fJ.I<- 1 - -
5 +$;tf;t fo? Alj';t. ;J M4X8 

6 .~<.:t.llfl 1 2 

7 lJ!.II·- 1 2 

8 31T4HOO KN312940 I'{JI,J-fJI(-AT- ' 1 

9 :1\I!J:f.JI,fo M8X25 . ' - ~ 

1 0 ,<.:t.!lfl 8 ~ 

1 1 ••• 8 

1 2 91117 A9011017 fill§.:~..:.., .. BLF204 (FYH) 3 

1 3 ~11J~ft:f.J1,I- M8X25 

.1 4 3231C 16320310300 ilfti~-1"7 ""'<- L ... 2 1 5 1 1 * .. 
1 5 31FXHOO KN315130 "fll-+:f.-,'7Aflll~a 1 

l 6 31EDPOO HP314670 11Jll:tti;f-tt 1 

1 7 Cl!.d:.;tfa (fllllft¢ 1 2) 1 

1 8 lJ!!ifl 6 

I 9 ~11J~f;J'rf(JZ, ... M4X8 

2 0 31AHHOO KN313670 IIDEA7--<n. (A) l 

2 1 1\1-'tt\:ftrf(Jj, .. M6X20 

2 2 .l<.:t.IJfl 6 

2 3 31S5C01 KC312851 Clll"f-•J- 1 

2 4 ~t!J7\:f;trf(J1,J- M6X14 

2 5 -· ~t!JT.,J- M6 

2 6 3293C KC320930570 ilftf~ '\" 7 .. f11<-a L-570 1 * 2 7 31L9C KC312190 7-l f:-7-"f-•J- 1 

2 8 1\~~f:t:f.JZ, .. M5X12 

2 9 "<*&h' 5 

3 0 31SOC KC312800 "fl.l-<t-.:L.:.-,1- 1 

3 I 31S1HOO KN312810 "fl.l-<t-:f.-y!fA 1 

3 2 31TlC01 KC312911 .x.:.-:::J-9'-~D-¥~-Na.l 1 

3 3 ~A~flt.d:.;t.:t.:J M5X8 

3 .. 3121100 ww 3 1 0 2.1 0 jli~ll!+- 6X6X35 1 

3 5 31S2HOO KN312820 "fl.l-+~-1"71- 1 

3 6 3255H HH320550 ..tflllilfi!fn "I "f I} :_, ?' 1 

3 7 3259C KC320590 ":_, J::f- IJ- 1 

3 8 :1\1117\:t-t.d:.JI.* :J M 6 X 1 2 

3 9 3111C KC310110 3m~-1-(IKS-4P-a4KW-DBK) 1 

3112C KC310120 •m ~ -1 - < 7 ;; P s 4 o-1 > 1 

4 0 51A2HOO KN511020 !f!;J~p:,:::J-9'-051 filalal.lft 1 

4 l ~tri:f.Jj, .. M10X25 

4 2 li!Sfl 1 0 

4 3 31S9C KC312890 .x.:.-::J-9'-i¥r.tii 1 

4 4 +~7\:ft 1-7 A'J':t. :J M 4 X 1 5 

~----.- -----··---------------:-· ·---

st .... sm•-~t a a • -It 

4 5 91003 A9010003 

4 6 

4 1 sunc KC312210 

4 8 31T2C01 KC312921 

4 9 

50 

51 3204F KF320040 

3205F KF320050 

52 3211C01 KC320111 

53 3291F KF320910 

5 4 

5 5 3251F KF320510 

. 5 6 3252F KF320520 

5 7 

58 

5 9 31YOP01 HP313401 

31DYHOO KN314620 

31DXHOO KN314610 

31Z2YOO KN313520 

31DVY01 KN314591 

31DIY01 KN314601 

6 0 92027 A9020072 

6 1 

6 2 

6 3 

6 4 31110C EC3122200 

I 
'Hil5. 250 

-~-~··· • A:: :Z 

'<7•r:,?' (6 o o 1 zz>~-

~trli'(f;t:f(Jt,fo M 6 X 3 ~~ 

T-t r?-;;tr- 1 
.x.:.-::J-9'-CM-¥~-Jb2 

~l'li'(f'J'Jl:.;l;t.;J M4 x8 

:1\P,;tf;trf(Jt,fo M6 X 2 5 

i!ftfflll~fii ASS Y (lj') 

ilftfflll§& ASS Y (:1;:) 

ilfl~-1"71- 15X4000 

¢15fJ?- i 

~t'li'(f;J"Jl:.;l;t.;J M6 X 6 

iltli-¥~- <*-¥~-> 

ilfli-¥~-??:.-7' 

~t'~Rft.d:.;t;t.:J M6X10 

~A~ftrf(n.fo M6 X 2 2 

~-1-:t-•J- (SR. 3 P 50/60HZ) 

~-~-7'-•J- (SR. 1 p 50HZ) 

~-1-:t-•J- (SR. 1 p 60HZ) 

~-1._7'-•J- (X 3P 50/60HZ) 

~-1-"f-•J- (X 1 p 50HZ) 

~-1-"f-•J- (X l p 60HZ) 

fiBtiV--<n.l- 3V-530 CXJIJ) 

~P,,f.Jj,J- Ml2X30 

~tl!T"'I- M 1 0 

.~<;t.rJfl 1 0 

7-l J:?-~-1"7 .. 

Clll • 
2 

1 

1 

1 

1 lUUJlli~S!JIJ 

2 * 
1 JU!I8lla1:8.!JIJ 

1 

1 

1 

1 

1 

1 

1 

1 

1 

1 

' . 

-25-

Jt 

(HJ)S. 250 

l 

i 
f 
f 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



® .:r ...;... :t Jv • 7 v - A 

I 

: 

I 
i 
I : 

I 
i 
I 
I 

tBJ 
I 

-26-

:· 

a • 

r. •• 

.. 

i 

I .. ; 

' I 

i 
l 

I 
I 

I 
p 1: 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



@ :r- :t Jv • 7v-A 0!~ let MUll;: J: ? "C' &L 11 b< A t.J: .0 ) 

-~ 
li!iiifl-lt &Lei It~ im H ~ Mit (Ill $J' 

1 1552N03 KN150523 r-'1'J~ (BE S R-12, 320X300/350) 1 * 
2 1286C KC 1 2 0 8 6 0 H J r -:1 '~:i:-7 7 9 0 L 4 * 
3 ~flJ-r...,t- 3/8 

4 .~< .:f.Jifl 3/8 

5 +*1\f.t.DD.**:; 5.1X25 

6 1433C KC140330 r - :1 '~ st 7" < 7 9 o L 
• I 

2 5) 6 * • 
7 1495NOO KN140950 r-'1' J~§:-7 5 4 0 t 4 * '' . . 
B 1283C KC 1 2 0 8 3 0 H J r-7' J~~-7 7 4 0 L 2 * 
9 1284C01 KC 1 2 0 8 4 1 r - :1 ~~ ~ 7" < 4 1 5 L > 2 * 

1 0 1281C KC120810 7 '~ ~ r - 7' '~~ 7" JR 1 * 
1 1 \ "<*lifl 6 

1 2 :AflJJ\M=f. '~ t- M6X20 

1 3 1518N01 KN150181 flil~ ( B E S R - 1 2 , 320X300/350) 1 * 
1 4 1652NOO KN160520 7:Y7v-A (BESR-12, 320X300) 1 * 
1 5 1319C KC13019123035 iEb§:7" SR-12, P=300/350 1 * 

Q)) 
1 6 :AflJ 1\M =f.'~ t- M6X8 

1 7 1191C KC110910 .7:Y7v-A~-1' l"n,<- R (H J) 1 

1 8 31K1C02 KC 3 1 2 0 1 2 ~ )~ ~ 0 7 7J " {- 1 * (iJ ' @::Hi ial 
1 9 :APJ 1\M:f. '~ t- M 6 X 1 8 .. 
2 0 :sJZHlht: 6 

2 1 :APJ 7- ·~ t- M6 

.. • ' . 

-. 

. . 

, . -27- (111)5. 250 

~ .. 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



11 

15 

~-<21 

~20 
'f--23 

~24 

22 

-28-

.J 

31 

43 

~44 .. 

~39 

·~ss 

SR·X 

,. . 

II. • 

I 

I 

I < 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



• 

•-tt llili•-tt a. g • -It • a :g liD: (I 't -
..!~ Bilia-~t ag•-tt • a :g •• Cl 't 

1 +~7\:#1tofJ"71)•.f.!) M3X8 ·- .. 
... -· ·•· 

4 5- 8324YOO KN330240 a 7? 'J .... .I-( r ...,,c- 1 

-' 2 3328C KC330280 tH.M:fli:tl;- 1- 1 
. ·--

4 a: 3325YOO KN330250 •J ~? a 7? ...,,<- 1 -
3 3317C KC330170 M:fli:tl;-f->'17- ,.. 1 4 7 912E3 A9012143 A:ftJ ~~I:~·~ 6 L•12 1 

4 *1111\:#.d:.;l-*:,1 M 5 X 1.0 4 8 3323C KC330230 D 7? l;1<-1:'~ ; 1 

5 +~1\:#11."!1"711\.f. :,1 M3 X 1 2 4 9 ~~::-~ . ·- lJ!Iist 8 

6 55C0180 EBY00180 3 7 4 0 .:.-t:Jvlf.:.1!.1sr- (US) 1 50 91207 A9012137 ~·J 77'l.!:JINI </18 1 

7 3313C KC330310 .:.-t:k?-=-~~~=-71-~-A 1 5 1 ···; ... ~ *111~f:tJICJvl- M4X8 

8 3319C KC330190 3i!ll;l?JV 1 52 3329C KC330290 a.,?M:tiS:tt;-1- HJ 1 

9 3316C KC330160 .:.- t:Jv?-=-~~!.1.,. 7 r- 1 53 ~111+71- M8 

1 0 3318C KC330180 >'17- "' 1 0 1 5 4 '<*fi* 8 

1 1 *111~#.d:.;l*;.1 M5X6 55 lll!istl 6 

1 2 3315G KG330150 us~~r-a-IV?-=-~~:t...,-r- 1 56 2361G .KG230610 us a-,? l;rC- 1 

1 3 *1117\:#:triVI- M5X30 . 57 2363F KF230630 a..,? l;1<- !.11' 7 1- 1 

1 4 3322G KG330220 .:.-FIV?-.:.~~~-\0- lh2 1 58. ~1111-71- M5 

1 5 *1111\:#:tfJI- .. M 5·x 1 2 5. 9 91201 A9012001 !r..:. :tf- n, :J (J -i ~ HNilB RD4 020K) 1 

1 6 2373G KG230730 12l&liLn<-A~-ofJ"- 1 6·1i 912K3 A9012203 ~"-"t- (ft-+'7!.~:d. 4X4 3 

1 7 2336F KF230360 12Jfil:fi;JB-f~f-l:~ 1 6 1 3327AOO MA330270 D 7? l;1<-A f- 71~- 1 

1 8 2335F KF230350 121Efil;-'<- 1 6 2 1\lllitf't:tfJl,l- M5X12 

1 9 *t111\:#:tfJI- 1- M 5 X 1 5 

20 lll&stl 5 

2 1 3361C KC330610 ;t'f7-( S/S LSB-G8-080V 1 

2 2 2315F KF230150 tta-+.,.7:1 1 

23 "<*mil 5 

2 4 ~PJ~#:tfJVI- M6X12 

2 5 3321C KC3302lO .:.- FJv?-=-~~~-\0- lh1 (0. 8M50T). 1 

2 6 *PJit#.d:.J*f) M4X8 

2 7 3381C KC330810 ~-\0-t:~-?- RIH6A5PC3-AS-120 1 

2 8 +~it#11.ofJ"?II'* f) M4X65 

2 9 ~Ar-,t- M4 I 
3 0 .. <.:t.mst 4 I 
3 1 3326C KC330260 '7?'1"-,1- a.,?a-?•J-•Jl;J-{ r 1 

3 2 3391C KC3309l0 t&fi'ta: fJ;(- '7 7 'T .., .. l 

3 3 ~Ait#:tfiVI- M5X10 

3 4 l!!fil! 4 - I 
3 5 33l4C KC330140 tiofl'tl>'l-'<- 1 I 
3 6 +:!?itf:t 1-7 A'''* ;.1 M4X8 I 
3 7 33UNOO KN3320l0 ;t- f-.,.., 1-"-A (BEMR) 1 

3312NOO KN330120 ;t-t-..,.-,1-"-A(BESR•X) 1 I 
3 8 3351C KC330510 ~111i!flia <*> 1 I 
3 9 ;C*fifl 6 . I ! 
4 0 91202 A9012002 ~.:.:fC-JV~a-f~l- (NMB PR- 6) 1 I 
4 1 ~111+-,1- Ml 6 l 

4 2 ;<*llll 1 6 ; 
4 3 3385C KC330850 a - ? •J - '/ 1; J -( F 6 SR-25 (27X 4 X 9) 1 I 
4 4 1\lllitf:t:tfJt,f- M6X30 I 

(HilS. 250 -29-From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



J· 
I.! 

,, 
I 

i 

'.1;· 

,, 
!· 
1 

1
', . 
;.:' 

,: 

>'I: 

' r ( 
I 

•' I 

j. J, 
I 'I 
; :!1 

~ ;· 

I 

I 
I ! 

I, 
i. 

:I 

I 
, .. 

i 
I 
I I 
I 
! i 

I 

~ .. 

-30-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



@) r*tnn~~~oo: 
m.f} iJ iiUI -ij- c:l 

~ fl-ij- " 
c:l 

~ Mlll {II :It a a a a 

1 5418F K F 5 4 0 1 8 0 fll:fi:fLt-t-7-"Yt- 1 

2 5416F KF 54 0 1 6 0 r*filfi:tv-t- 1 

3 :1\PJ/\:ft.tJ:.;f.y M6X6 

4 5417F KF 54 0 1 7 0 ~l:b:tv-t-.:t-Y 1 

5 • :1\ 1IJ 7\: f.t ;f. )~ t- M6X40. 

6 5414F KF540140 r*91'~;.-?'-e;.-"!t-"1'77"Yt- 1 • 
. . 

7 5413F KF 54 0 1 3 0 r*~~~1'~/?'-I!/~-(TLX5) 1 

8 5411F KF 54 0 1 1 0 r*~~-l!/"!t-(E3YGS 3-35S) 1 

9 +*7\:ft 1- 7 A'J'.:t- Y M3X8 
: 

1 0 SJZm~ 4 

1 1 \ +*7\:f.t ~ ·~ t:• ;.-jt, "!t 7 * y 4 X 2 0 

1 2 5401F K F. 5 4 0 0 1 0 r~7 ;.- :t.r. ·~.,A 1 

~ 
1 3 5412F K F 5 4 0 1 2 0 r*~~7/:f(E3YGS 3-35A) 1 

1 4 5410H HH5401'00 r*~~f!iiJta~~.r. 'Y., A < 1 - 1 3) 1 
; 

' 
1 5 SJ!~~ 3 ) 

I .. 
; 

: 

: 
: 
[.' 
., 
I 

' 
f 

' 

~ 

:· 
·' ; . ~ 

~ ~· 
~ 
r 

~ 
t 
: 

: . 
I 

-31- (HI)5. 250 

J L .. From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



... 

-32-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



(j]) ~ ~~IK lh ~ ~Ji (V Hn~) I '• • ( * fct til! I~ J: ? "t & fl f.J( A t.c .0 ) 

11-ij- liHiii1i~ 
a 13 • -1} • a :S mill {)II ~ AR AR 

1 4502C KC450020 t!f7v-kASSY (HJ-12 320X300) 1 * 
2 4840NOO KN48040 talb v-Jv B (470L) .6 * 
3 ·:qzm~ 4 

4 -~-}- ':1 ~ M4 

5 111M~~ 4 
I 

+::;=Jt:ftif 7'J'.:t- :J M 4 X 1 2 • 6 

1 4816C · KC480160 V~I*JtJ1<- (A ~c-i3 50) 1 * . 
8 4815C KC480150 Hi!~? -IH~:fJ,<- 3 

9 +¥Jt:f.tif ?lj\*:; M4X8 

1 0 4708H HH470080 ,.: Jv A -r - .9 - i!Uili :..- "' 7 I' ~ ~ ~ 1 

1 1 91128 i\9011028 .D U :1 -:~ :..- .:z. ( M B 1 5 1 0 D U ) 1 

2 +¥!t:M~7*-*:; 5.1X25 

1 3 7380C ILKC450020 -~t!f SR-I 2 3 2 0 X 3 0 0 1 * ; 

) 
~ 1 

1 4 7379F KF73079.0 t!fmc-v-:~1'-*:J 3 6 
~) ; 

1 5 4835C KC480350 fMib v- Jv < 4 1 o L > 1 

• l 
1 6 :.t:-?1:"-J-·;~i' M4 

t 
! 

I 
' l 

' ' 

' 

. 
·i 
j 

' 

. ' 
.. . 

. ~ 

.. ~ 

~ 
-33- (HI)5. 250 

.q.,t 

Jl. 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



I 
I 

.j 

-34-

., 

... 
I 

~ 

... 

.! • 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



. 
@ ~ IlK mJJ ml tf4 CHnrP:I) n 

iJ-ij- ~mmm-ij- Cl 13 • 0:::0 • Cl :g !lit {iii 't a a "''=j a a . 
1 ~flJ7-'Yt- M 

2 48X7POO HP483370 Hllh"7') /~1:·/ ASSY 3 

3 48S7NOO KN482870 Ho-7-"-7.. (U() 3 

4 48S8NOO KN482880 Ho-7-"-7.. (liiJ) 3 

5 48T5POO HP482950 c -7 t• ;...-*Jl.i;.A 2 4 

6 ~111 /\t-t:f. '" "' M8X20 • 
7 ~flJ-j- '1 "' M5 ... 

8 ~111 /\ # ¥ '" "' M4X6 

9 +*/\M~ 7'1'* :/ M4X8 

1 0 48S3P01 HP482831 m lb" 7 •J :,..- ~ ~:· :,..- 3 

1 1 I 
~!!1!~ 8 : 

1 2 48Y4NOO KN483440 H;l :,..- .. {-l!IUar? :,..-*'" 
! 

; 

1 3 92098 A 9 0 2 0 0 9 8 7 4 ~ /~"'" t- 300S5M2000 ~ 
I 

' '·all 4 48T4POO HP482940 7 4 ~ :,..- ~" Jv HfP .x. 7 ·1 ~ ( 5 M) 6 ' . :" 1 5 48j7H HH481970 ... ~,v;r,.:r -7 -i!U& y""' 7 t- -n 7- 3 
~ 1 6 ~PJ/\#.LI:;l*:/ M5X8 
! : 
; 1 7 48K1NOO KN482010 H~f*Jf~:t- IJ- "'f7 7 '1 "' 3 t 
' 
I 1 8 ~flJ /\ t-t =f.'" 1-- M 4 X 1 5 

i; 1 9 ,.{*!!1!~ 4 ·· .. 
I 

2 0 lJ!!!t!~ 4 

2 1 91163 A9011063 .::. - r: '""' 7 •J "./ ~· TLA2016 3 
; 

2 2 48T9POO HP482990 ~l!l!r,.- •J- CUt) S 5M 3 

3 4BJBII HH481980 
l 

t/J 1 9 IH>~?/7' 3 

j 2 4 ~ flJ 1\ t-t .r. ,~, t- M 5 X 1 8 

t 2 5 ... <*!!1!~ 8 ) 
~ 

48Y5NOO j 2 6 KN483450 v m v - ,~, c L == 6 6 o > 6 
~ 

. i 2 7 48YONOO KN483400 H * F*J v- Jv ±is ( B E S R ) 3 

~ 2 8 ~ flJ /\ t-t .r. ,~, t- M 4 X 1 8 

1 2 9 91252 A 9 0 1 2 0 5 E~J.I:;lfa(t/J10) 3 
~ . ~ 

3 0 48T8POO HP482980 f.t:tiiJJ:f- IJ- (JJiJ) S 5M 3 ,. 
;< . 

3 1 48KONOO KN482000 H~F*JWJ:t- IJ- "'f7 7 ':1 "' 3 
) 3 2 ~111 7- .. , t- MB 

3 3 91179 A9011079 .::. - r: ,~,""' 7 •J :.t ~ TA-1225 3 

3 4 ~111 =f.,~, 1- M4X40 

3 5 ~11:1 =f.,~," M4X25 

~ 3 6 48J9H01 HH481991 ~ IIJ.,.- IJ - Y "\" 7 J- 3 

3 7 48L1H HH482110 .,. - •J - ;.t ""' 7 t- :r. ,~, t- ~ ""' ·1 .,. 3 

. 3 8 4806NOO KN480060 v - ,~,±it 7 .%. ,~, t- SR 7 0 0 X 3 0 X 6 3 

3 9 91006 A 9 0 1 0 0 0 6 ""( 7 IJ / ~ ( 6 2 5 Z Z ) (1650) 1 

.. ~ 

-35- (81)5. 250 

l. From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



l 
1 
! 
! 
'I 

:·! 

t 
i 

f 

15 

-36-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



. ' 

@ ~~!Kiht~tl· < H JJJPJ) m 
11-lt 181iii11~ era m 11-lt " 

D 
~ (!It {lft :lit a a 

1 1\ 1fJ A: f.t ;f. Jl.- " M3X8 

2 4681POO HP460810 f!/:At-~::t-t?;.,"!t-::tv-1- (H) 1 

3 7- a ry ;f. Jl.- 1- M 5 X 1 5 2 

4 4547C KC4504.70 f!ltA 1- ·~ 7"11 7- 2 

5 45A4NOO KN45104032 f!l: A 1- ~ 7"!41 H L=380 1 

6 4683NOO KN460830 f!/:A I- ~ ::1-tf!Dlf.ta ( L) . 1 • 
7 1\flJ A: M :f. Jt.- 1- M4X2-5 

8 ... <*Pi~ 4 

9 .SV.~Il 4 

1 0 4682NOO KN460820 f!/:A 1- ·:.r7"ff!Dlf.ta (R) 1 

1 1 \ 1\ 1fJ A: f.t :f. Jl.- " M4X20 
. 

1 2 95333 A 9 0 5 3 0 3 3 f!/: A 1- ·:.r 7" !f!~?"- 7 Jl.- 0.75X180 1 

1 3 ,. ~ Jl.- A .:e- - 9 - i!U6 ~ .y 7 1- rp 1 5 2 

1 4 48J3H01 H H 4 8 1 9 '3 1 ,. ~ Jl.- A .:r - 9 - 1J ~ 7" IJ ;_, ?" 3 

1 5 1\ fJJ It f.t :f. Jl.- 1- · M 5 X 1 8 

1 6 48JOH HH481900 ,.~ Jl.- A .:r- 9 - ( 4 M) 2 

1 7 '1\ , A: f.t :f{ Jl.- " M6X25 

1 8 ... <*Pill 6 

1 9 lJ!P:l!~ 6 

2 0 4715N01 KN470151 H ,..~ Jl.- A .:r - 9 - 7 7 ?" ..., 1- 1 

2 1 1\ 11:1 A: f.t ;f. Jl.- " M8X40 

2 2 ... <*Pi~ 8 

2 3 lJZP:l!~ 8 

2 4 0- Jl.- t• ;_, 4 X 3 0 2 

2 5 :t\11:17- ':1 " M8 

.. 
~ . 

-37- (01)5. 250 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



... 

28 :t 
:.f 

: 

11 

33 

# • 

Ol.<t 

... 

54 

-38-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



11-lt GiliS"t a 1§1 S-It IS rill 6 
1 3311KOO KN330110 :r::.-t-a-JI,..:L.:..,.t-~-A . ·-:;~:t: ~--;::-. _,.,. 
2 4BJOR HH481900 I(JI,A~-:_9- (4M) ·_;-:·~!;.,.!;.::- •.. ·' 

3 1\A:f\:ft;f(JS, ~-,M 6 X 2 5 ~ ..... -~· .. 
4 .. ,<:t.m~ 6 .- ~41' IJ .. : -... ~ 

5 ·•m~ 6'/(' .. 

6 48J3H01 HH481931 I(JI,A~-9-:i'J.,. "f'IJ ::.-?' 

7 1\Pt;tftlf.JI,I- M5X28 
.. 
-· "="'"·-

8 4716K01 KN470181 y,<n,A~-9-7'77"1 1-

9 95333 A9053033 ti;Af-"17'.lll~7-"J'JI, 0.75X180 

1 0 i'\111~ft;f(J!,J. M8X20 

1 1 48S9MOO KN482890 Va-:71'{-A : 
1 2 48T9POO HP482990 too.ma,,.:r~ IJ- ca> S 5M 

1 3 4914NOO KN490140 V9-t.:. ::.-?'"{Jt,f-~T7 1-

1 4 4913HOO KiH -9 0 1 3 o V? -r:.. ::.-?'~Jv 1- ~"" 7 1-flli§"" ;~ ::.-?' 

1 5 4912HOO KN490120 /'0{7IJ ::.-?'7'77"1 .. 

1 6 91163 A9011063 .:.- f:JI,/'0{71} ':/?' TLA2016 

1 1 4BJ7H HH481970 I(JVA~-? -i!ati~T 7 .. fJ 7-

1 8 1\Aitft.IJ:.J~*'.J M5X8 

I 9 lj!fifl 5 

2 0 ... <*11* 5 

2 1 1\A~ftlf.JS,J- M4X8 

2 2 l!tSlfl 4 

2 3 ,<;t.Slfl 4 

2 4 t\1ll7i:ftl!fJv,. M5 X 1 2 

2 5 1\lll-r,.,. M3 

2 6 48V1POI HP483111 HIII11'{7 1J ::.-?'!:"':/ ASSY B 

2 7 48X7POO HP483370 IIJII1"{71J ::.-?'"!:"::.- ASSY 

2 8 1\lll~ft:f.Jv,. M3X6 

2 9 1\lllT"II- M5 

3 0 48T5POO HP482950 a-?-1:"::.-&A 

3 1 +~itft 1- 7 A'''* :J M3X6 

3 2 4680POO HP460800 ti;A 1-.,. 7'-t! ::-~-"fa,- 1- (V) 

3 3 92098 A9020098 9-t:..::.-?'-<JI.rl- 300S5M2000 

3 4 4BT4POO HP482940 ?-t:..::.-?'~JI.rl-~~7.,.? (5M) 

3 5 1\lll~ft,Y.JI.rl- M 4 X 1 S 

3 6 48Y5NOO KN483450 v~a.,-1v <L=& 6 o> 
3 7 48YlNOD KN483410 V·~a.,-Jt,±~(AJ-D-?350) 

3 8 1\Aitf:tlf.JIII- M4Xl8 

3 9 4683NOO KN460830 f!/oA 1- "J7"Millllf:tS (R) 

4 0 4682NOO KN480820 41/r7. 1- "'?"Millllf:t-& ( L) 

4 1 1\11JT"Jl- MB 

4 2 '<*fi~ 8 

4 3 >!!fill 8 

4 4 4810NOO KN482000 H=~JiiJ:f- 11 -"1'7 7".., t-

4 s ,t\1117i:f:t:f.Jt,J. M4X20 I 

•• • ~ 

1 -
. .; 2 

1 

1 

1 

1 

1 

1 . 
1 

1 

1 

1 

1 

1 

4 

1 

I 
: 

2 .; 

2 * 
1 * 

1 

1 

1 

runs. 250 

. . 

S-It m~ma-~t 

4 6 

.4 1 48J9H01 

4 8 48LIH 

.4 9 

50 91179 ~ 

5 1 48T8POO 

52 91252 

5 a 4748C 

54 

55 45A5NOO 

5 6 

5 7 

5 8 4547C 

59 4915NOO 

6 0 4806NOO 

6 1 

rill 8 .... 

HH481991 

HH 4 8 2 1"1 0 

A9011079 

HP482980 

A9012052 

KC470460 

KN451050 

KC450470 

KN490150 

KN480060 

. . 

·'~·-·.: IS II:: 6 GliB • ~ 

1\Aif.n-J- M4X25. ~ 

fit11J."f-IJ-~T7 1- tt 1 

7'.:..9-~T7f-Jf!JS,J-4't77' 1 

1\IIJ:f,J!,J- M4X40 tr 
--t:n.I'{71J':/?' TA;l225 1 

ti;C·7'- IJ- (Q) s 5 M 1 

EJ5.1J:.JMC~10) ~ 1 

vaP~a.,-Jt,±-&7"77,~ 1 * 
1\Aitt-t:tfn-t- M8 X 2 0 

ViA f- "17'$11 v L-394 1 * 
7-s?lffJS,I- M5X15. 2 

+•~ft-j-/'0{/j\;t. '.} M4X12 

ti;AJ-.,.:f:i'J7- I 2 

y,<Jt,A~-?-:i'J "J:f•J ::.-?' 1 

a.,-Jt,±iP s. .IV 1- SR 700X30X6 1. 

1\111-1-"11- M4 

··-

I 

' 

I 
! I 
-39- •.HDS. 250 From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



@ffitJ~~~ (8 EMR) 
6 

ll ! 

12 ~ 4 

.... 

I • 

-40-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



(@ifitJ~OO~<BEMR> 

1 55ROOOO E BY 0 0 4 5 0 4 4 1 0 CPU 1iUi 

2 55R0010 E By 0 0 4 6 0 4 4 2 0 ;l ~ IJ -~li 

3 55R0020 E BY 0 0 4 7 0 4 4 3 0 F D S P ~~ 

4 55R0030 E B Y 0 0 4 8 0 4 4 4 0 B / B ~~ 

5 55R0040 E BY 0 0 4 9 0 4 4 5 0 '1'-fJ'-~~ 

6 55R0120 E BY 0 0 5 7 0 4 5 9 0 B / B • L ~'lli 

7 55R0090 EBY00540 4540 ,~Jv.A.:C-9"-::J/i'c-7-~fi 1 

8 55R0080 E B Y 0 0 5 3 0 4 5 3 0 -1' '/ r{- ? ~fi 1 

9 55RO!OO E B Y 0 0 5 5 0 4 5 6 0 11i!f.ft!Ji!J~fi 

10 55R0070 E BY 0 0 5 2 0 4 5 2 0 'J v J -1' 1-="~.fi 

11 55R0060 E B Y 0 0 5 1 0 4 5 1 0 ..( '/ 9 - 7 :r.. .A afi 

12 55R0110 E BY 0 0 5 6 0 4 5 8 0 B / B • R 11~ 

13 5316F K F 5 3 0 1 6 0 .A..( ·:~ 7t* 1 

-. 14 5319F KF 53 019 0 .Mi.A-1'·:~7-'1'7?"·:~ i' (1j') 1 
~',.:·,).;:,· ... 1-t----t----t---------f---t--------1 
"" · ; \11 15 5311 F K F 5 3 0 1 1 0 tiP :f. 9 '/ .A -1' '>' 7- M S 3 2 0 ( w ) 1 

A o 

.. 
5312F KF 53 012 0 f!P.Y.9/.A..f·:~r MS 319 (~) 1 

16 5318F K F 5 3 0 1 8 0 141 .A -1' ·:~ 7 '1' 7 ?" ·:~ i' ( *) 2 

17 5315F K F 53 0 1 50 ttfl:f.9 /.A-1' ·:~7-t--r ·:~-:1 2 

18 

19 5202C 

20 

21 

22 51G4NA3 E A Y 0 1 8 A 3 .::t- t- ~ ·:~ i' t- 7 '/.A BE M R 1 P 

51G3NA3 E A Y 0 1 7 A 3 .::t- t- ~ .. , i' i' 7 '/.A B EM R 3 P 

23 5222C K C 5 2 0 2 2 0 T- - -:t•j - ~- P T R - 5 

24 55R0050 E B Y 0 5 0 0 

25 51G3NA1 E A Y 0 1 7 A 1 ;;t- t- ~..., t- ::J '/ i' c -7 BE M R 
• a J • 2 

26 51G3NA2 E A Y 0 1 7 A 2 .::t- i' ~ ·:~ i' !'" 7 -1' ,<- B EM R 

27 5317 F K F 5 3 0 1 7 0 .A ..( ·:~ 7- t* -t- ? ·:1 7' 
. . 

28 55R0140 E BY 0 0 6 3 0 7 c '>' t"- 7-1 .A? !'" 7 -1' '1' F D- 1 1 3 1 C 

-41- (HI)5. 250 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



@ ffiiHan I~H* ( B 
1
E S R) 

6 2 

11 

2 I 

2 ; 

- 42-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



. @ fblj ~i ~ :~ < 8 E S R. > 
fl-ij- ISIHiiil~ 

Cl EJ • -ij- • Cl 
~ tiM {1ft $J CICI CICI 

1 51J2CA1 EAY009A1 ,J"-t-"?·:~t- :J/t-c-7-BESR 1 

2 55C0190 EBY00190 3 6 1 2 7 -f .A 7" 1,.1.{ ;f!- !-:" 1 

3 55C0080 EBY00090 3 4 3 5 .{/9-7.-.A;f!-f-:" J 3 JR 1 

4 55C0050 E;BY00060 3 4 2 3 A CPU;f!-1" JR·SR 1 ., 

5 55N0090 E B Y 0 0 4 1 0 3 4 0 4 I c ;1. .:e- IJ - ;f! - I" 1 

6 55N0060 E B Y 0 0 3 1 0 3 5 0 3 ,{. • .11 ;f.- I" 1 • 
7 55N0050 EBY00300 3 5 9 0 .:e-- 9 -CKIIJ;f!- f: (1f!tf:D 1 

55N0040 EBY00290 3 4 9 0 .:e-- 9 -tKJb;f.- r <a tin 1 

8 5~N0070 EBY00320 FM20X1AA-D )t!j::~~.:L.:: .. , t- 1 

9 55C0110 E BY 0 0 1 1 0 3 4 1 0 t-7 ~:/.A?-:f.- I" J 3. J 4 2 

1 0 5222C ·. KC 52 0 2 2 0 7 - -j' IJ - ?'- PTR-5 1 

1 1 5316F KF 53 0 1 6 0 .A-1'.:'-T!* 1 

1 2 5319F K F 5 3 0 1 9 0 t4i.A .{ ·:~ r 77 Jr '.:' t- ('J') 1 

1 3 5311F K F 5 3 0 1 1 0 f!¥:f.9/.A.{'.:'7- MS320 (~) 1 . 

5312F K F 5 3 0 1 2 0 f!¥:f.9 /.A.{ ·:~r M S 3 1 9 (~) 1 

1 4 5318F K F 5 3 0 1 8 0 ;MI;;{.{ ·:~T-777·:~ t- (::k) 2 

1 5 5315F K F 5 3 0 1 5 Q fllJ;f-9/.A.{'.:'f-4-\"'.:'7" 2 

1 6 +*1\M9 ·:~ t" /n-tt 7 *::; 4 X 2 0 

1 7 5202C K c 5 2 o o 2 o· t-7 /.A:IJ.I\--f!.y t- 1 

1 8 :1\ 1lJ 1\ ft :f. Jil t- M6X30 

1 9 .iJ!m!i?l 6 

2 0 51J2CA3 EAY009A3 ;;t-t-"?'.:'t-t-7/.A BESR 3 p 1 

51L2CA3 EAYO 1 OA3 ;;t- t-"?·:~ t- t-7 /.A SR 1 p 1 

2 1 51J2CA2 EAY009A2 ;;t- r"?•:l t- f-:"7.{r~- SR 3 p 1 

51L2CA2 EAY010A2 ;;t- t-"? '.:' t- f-:'7.{,{- SR 1 p 1 

2 2 55C0070 EBY00080 3 4 6 2 1"7 .{ .1'~-mtJill:f.- I" 1 

2 3 5317F "KF530170 .A.{77-MI4?77" 1 .. 
:(t 

.. . 

c • 

-43- (81)5.250 

'J 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



3 

! . 

21 

.· t:'g 
~ 20 

-44-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



@ ffilj ~ ~ ~ < 8 E X > 
-~ 

IBiiiifl-lt Cl 
~ ... -ij- • Cl :S Mit Wf :lf a a a a 

1 51J3CA1 EAY011A1 ,.._,."?';!,. :::J/t-o-7- (SEX) 1 
: 

2 55Y0050 EB¥00340 4 0 5 0 . it~-Ui 1 : 

3 55Y0060 EB¥00.350 4 0 7 0 .Pkl;f.-t:' 1 

4 51J3CA2 EAY011A2 ,.. - ,. "?';I_,. r: 7 .{ .t<- BEX 3 p 1 

51L3CA2 EAYO 1 2A2 ,.. - ~ "? ") ,. ~- 7 { .t<- X 1 p 1 

5 55C0110 EBY00110 3 4 7'0 t-7/YA9-*'-t:' J 3' J 4 2 • 

6 5222C KC020220 T - -j' IJ - ?*- PTR-5 1 

7 55C0070 EBY00080 3 4 6 2 1"7 .{ .t<-ftl!JIIJ;f.- t:' 1 

8 5317F KF 53 0 1 7 0 A.{ ':1 T-t$4=-? ':1 7' 2 

9 55Y0020 EBY00260 4 0 4 X .:e--9--'l&IV.J;f.- t:' (8 EX) 3 p 1 

55Y0100 '. EB)'00640 4 0 4 X .:e-- 7- .IKIIJ *'- t:' ( B EX) 1 p 1 

1 0 55Y0030 EBY00270 403X .{ /7-7.:r.-A;f.- t:' (BEX) 1 

1 1 55N0130 EBY00590 4 0 2 2 CPU-t!- t:' (BEX) 1 

. !II 1 2 5316F K F ·5 3 0 1 6 0 "A.-f·:~r~ 1 
•it! 1 3 5319F K F 5 3 0 1 9 0 $ A .{ ·:~ r '"/ 7 7 ·:~ t- ( 'J') 1 

!(II 
.. 

1 4 5311F K F 5 3 0 1 1 0 tiJI;f-7/.A.{';I-f MS320 (~) 1 

5312F KF 53 0 1 2 0 .tiP ;f. 7 ':/ A .{ ':1 r M S 3 1 9 (*f) 1 

1 5 5318F K F 5 3 0 1 8 0 t41A.-f ·:~7-'"/77" "),. (:;k) 2 

1 6 5315F K F 5 3 0 1 5 0 fll!<f-7':/.A.{ ·:~f4=--t ")7' 2 

1 7 +*1XM7 ·:~ t::• /;Lil'-* Y 4 X 2 0 

1 8 5202C KC520020 t- 7 ':/.A 1J .t<- -1? •:~ t- 1 

1 9 1\ ft! IX ft *' '"' t- M6X30 

2 0 IJ!.~i£ 6 

2 1 51J3CA3 EAY011A3 ,.._ t-7•)1,. t-7;...-.A BEX 3 p 1 

51L3CA3 EAY012A3 ,.._,."?•;~t-t-7;..t.A X 1 p 1' 

.. ; Ct .. . ·~ 
.. . 

.. 

) 

; 

I 

~ 

I 

l .. I 
j 

IZ 
c • 

: 
i 
~ 

~ 

l 

! 
~· 

~ 

~Li. 
-45- (HI)5, 250~ ..... 

-- ·---· ·--- I 9 ' i'Stdtt'Mf!ur~-Stt 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



2 15 

l 
27 23 

I 

\ 

I 
26 

40 
..... 

.. '35, ~ 
~ 

-46-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



@) * tJJ ~~00: I 
11-ij- 1Sliii11-il I:J El 11-il • I:J :ts lilt {llr 't ~ 

AA AA 
--

1 27F2N01 KN271521 *tD~;tA±a 1 

2 27J8NOO KN271980 t*;f Al&lb vr{- -1 

3 +::f:Jtt-t;vJ'* ~ M3X6 

4 27G1NOO KN 2 7 1 6 1 0 J:*;lAf!P.:L~ 1 

' 5 27GON01 KN 2 7 1 6 0 1 J:*JA 1 

6 27C2C KC 2·1 1 2 2 0 t"*~t.lAr-J: 1 • 

7 27C1C01 KC 2 7 1 2 1 1 '? ~ ':1 7 -r--:t J: 
., 

1 

~ 8 27COC01 KC 2 7 1 2 0 1 ? ~ ·:~ 7 -r - -:IT 1 

9 2789C01 KC271191 "F*4¥t.JA-r-T 1 

1 0 +::f:/\ft;vJ'* ~ M2.5X3 

1 1 2796C KC270960 I§JlE)A 1 

1 2 2798C K C 2 7 0 9 8 0 MJlE;lAll:;f;f.~ 1 

1 3 2795c· KC270950 "F*t1J)A 1 

.. , 1 4 2797C KC270970 "'F*JA@Jeifm 1 

1 5 2231F K F 2 2 0 3 1 0 :IJ?HSL-A-MIQ 1 .. 
I 6 A IJ I!JIJ ft.lJ!!J\;f. ~ ( s Mll/65 UJ40X5) 

1 7 27F6NOO KN 2 7 1 56 0 .;l A l.n<- 1 

; 1 8 1\flJ1\ftl1:;l.:t-~ M5X6 

1 9 1\11J+ ':1 i' M4 

2 0 lf!m~ 4 

2 1 27G7NOO KN 2 7 1 6 7 0 :tJ '? 1f: ;l c * -t7.1 •J m ) 1 

2 2 A 1) ltJftlf!!J\;t. ~ M4X8 

2 3 2237F K F 2 2 0 3 7 0 :f!t:::..-'r-A (MK- 3) 1 

2 4 1\ flJ 1\ ft :f.)(, i' M6X30 

2 5 ,<.:t-m~ 6 

2 6 27G2NOO KN 2 7 1 6 2 0 'Jv.I1'1"Ar- 1 

2 7 95610 A 9 0 5 6 0 I 0 o - 9 •J - '.1 v .1 -1 r 4 E L 25- 33 X 3 X 8 X 9 1 . 
I j ct 2 8 27G5N02 KN 2 7 1 6 52 A i' •:JI~-.:L;f~ / 1 

2 9 27G6N02 KN 2 7 1 6 6 2 .J:.;f~ /:fJJ{- 1 . 
I 3 0 1\ Ill /t f.t :f! J(, i' M4X20 
: 3 I 1\1'J IX ft :f. J(, t- M 4 X 1 0 
r 

3 2 27G3NOO KN271630 ') v .I { ,.: VI<- 1 

3 3 1\111 + •:J i' M4 
l 

i 3 4 '<*m~ 4 

3 5 A flJ :f. J(, 1- M4X8 
; \ . 3 6 27G4N01 KN 2 7 1 6 4 1 _l:;i'~ 3 IJ ? /r 7 "J 7 1 

3 7 .ll!m~ 3 . 3 8 '<*m~ 3 

3 9 A 1fJ IX ft :f! J(, 1- M 3 X 1 0 

4 0 2364F KF 2 3 0 6 4 0 o "J 7i!Ui!if* 7 7 / -:t 1 

4 1 iBiS~ 3 1 

4 2 A 1fJ /t ff :f{ J(, t- M 6 X 1 5 

4 3 2513NOI KN 2 50 1 3 1 tt~ (;t~-t7J.,) 1 

4 4 A IJ I!J 1) ftiXlf:;f *:; ( s M 1 1 /641.1J40X 4) 

4 5 2392F KF230920 Q IJ "./ ?' (*) 4 

-47- (HI)5. 250 ·~ 

J~ 
. - ........ -·· 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



-48-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



0 

• 
n ---.:-. ..,.., --- (N caif'lt) n 

-~ 
llili•-~t B fl .... • A ·~ •• • - 't . ... oma-~t &fl.-It • , 6 lilt • 't 

1 - "'~;tf.t;tCJI, t- ': M 3 X 1. 5 :. ,,;-i.~ ~-t\tiM. ~ ti.: '· 4 5 95202 A 9 0 52 0·0 2 '?.f?C~.f,"'- D2MC-o 1 F <ktf;JJ'J> 1 

2 23D4POO HP231340 SEll? Iii:~ Y'l- t!;... :.··::;;::~}?~~ ·- 1 .4 8 .. :...:: "'1!J1tf.tllfJI,f. M4 X 1 5 · 

3 "'~~f.tllfJ!,I-.M3X8 ~ ,:-~~~~ : 4 7 2135C01 KC270351 ktf'fl.~ "7 .., ~ tu r· .. 1 

4 •••. _~4'_:¥_:?,: . ~ f"-.,:: ~F-:t·~'-'E~ ' 4 8 "'"'1t#JffJI,f. M4 X 1 5 

5 2716NOO KN270160 ~7;..-:t"'"tt,:t-MCi!"'-7Jft) ·~'I\~:·;~. '.<~r .· ~2 4 9 ;.C$dht! 4 : 

6 2772C KC270720 ~QUt;~ 7 :;,'1-'CMP '.1.';;;::::~;.~ 1 5 0 "'1!J1tfltlfCJLo .. M4X12 

7 2731G KG270310 ,1Aalt1iflll ('7*tt> --. !.!-~;,, NX1 5 1 +¥1\#T~I)\$ 9 M2X5 

8 ~~8~#.~$9(SM9/~ili~) 
.. ,, 

52 2734C01 KC270341 Rtftlr.t"77?•t-tu 1 

9 2358F KF230580 ~ft!W=f .· .. :_-:::---. ___ .- NX1 53 2711C KC270110 ktftlr.t"77~ 1 

I 0 2728C03 KC270283 ~fif1;.:L:ta.;... ( 5 *ft) - 1 54 2178C KC270780 ~~-7;($;) 1 

272BG02 KG270282 ktfiM.:L :ta;... :~ 1 *ft) 1 55 "'1!J+.,f- M3 1 

1 1 2730C01 KC270301 ktlif1i~7;..-:t NX1 56 27E8C KC271480 7?"1-.:~..%..-f-1/;(- 1 

1 2 2727C01 KC270271 {i,.;($ NX1 . 57 27F1G KG271510 ktttfltl'/J.I:.:tl/- .. 7 (*'1'::.- a;,) 1 

1 3 "'~;tf.t;tiJI,f- ,M 4 X 1 0 58 ••* 3 

1 4 2729C02 KC270292 ktlliU'JJ?'a.., ~ NX1 5 9 '<*Bi* 3 

1 5 "'~+., .. M4 
... 

•· 

1 '6 "'";tf.t:f,JI,f- M3X6 ./ 
-~· 

1 7 2719C KC270190 "1/r.f r~-r...: ~ - 1 

I 8 2701C KC270010 llli!Dfiii"'FJ9J1,':.• ·· 1 

1 9 2722C02 KC270222 •n~-~ ·. , 1 

2 0 2765C KC270650 ktliM~7.f~- CMP -- 1 

2 1 2740C01 KC270401 ktliMI/,<- .:..7-.~•J ;...~ 1 

2 2 2703C KC270030 ~7-f ,:~7~ 
.. .-~ 

1 

2 3 2705C KC270050 t,;(- t! ;...' ')..,. v 1 

2 4 ·"'A;t#;f.~v t- _ M 3 x 1 0 

2 5 2708C KC270060 1,;(- o• ---':~ 1 

2 6 912C7 A9012127 E15ll:.Jfi(qCFf1 3) 3 

2 1 2107C KC27~070 a.,,:~;, ., 2 

2 8 271BC KC270180 '1'1/-t-a.,,: 1 

2 9 91258 A9012058 ESJI:.JQ ~2.5 
.. 

2 

3 0 2717C01 KC270171 ~)'];, J:t,;<- 1 

3 1 2108C KC270080 ~>'.1:-r.,,<-~:- 1 

3 2 "'";tf.t;fiJI,f. M3X12 

3 3 "'A-i-':11- M3 

3 4 +¥/\#.,. 71)\$ :; M4X8 

3 5 2710C01 KC270101 ""';-<r~:.- 1 

3 6 95613 A9056013 *--'1''11/J.fr TDS-110SL(SP17;.rilt) 1 

3 7 2715NOO KN271850 t,;<-i!fS?'I/- .. 1 

3 8 2114NOO KN271840 :fk{ir.fl/1<- 2 

3 9 "'1111\f.tll:.J:f.:J M3xs 

4 0 2733C01 KC270331 :fk{i,.~-~ 1 

4 1 2137C KC270370 ~ .. .,,<:JJ,. 1 I 

4 2 95607 A9056007 a-?•J'JI/1-f r 4 ER67.5-34X 3 X 8 X 9 1 i 

4 3. 2138C KC270360 ~ .. .,.,<~-A. 1 I ! I 
" 4 

2170C KC27070C A.-t.,.+-A.r- 1 j I I I 
(HI ;s. 250 -49- (81)5. 250 

.... ______ .....--·-... · ........ ·--- -·· 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



e • 

• • 

a--16 

·-50-
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



• 
@)* tJJ ~ ~~ IJJ iB m <B EMR> ('* S R • X o:>h~ID) 

-~ 
rsJiti11-lt a 1§1 11-it • A :!· 'j.' !life mr Sf AA 

1 +=¥It#~ '711\*:; M4X8 

2 27E4C KC271440 mJtJM-tt- c-An.,<- 1 
I 

3 3318C KC 3 3 0 1 8 0 :fJ7- ¢> 1 0 1 

4 t\1fJitMJJ:J;t.:J M5X6 

5 1\1fl + '1 t- M6 

6 lJ!g~ 6 • 

7 1\ 1IJ It M :f. Jv t- M6X12 

8 27H1N02 KN 2 7 1 7 1 2 :r-9-77'r·1 t-n.,<- 1 

9 27J9NOO KN 2 7 1 9 9 0 :r- 9- J..u<- 1 

1 0 27H8N01 KN271781 mlb l.n<- 1 

1 1 27115NOO KN271750 T:- 9- Lo<- rnlfifm 1 

1 2 27N5NOO KN272350 ll!rr t·:,., ¢> 6 L=35 1 

1 3 ~ 1IJ It M :!! Jv t- M 4 X 1 0 

, :a 1 4 27H4N01 KN 2 7 1 7 4 1 r':l?' 1 

-.!1 1 5 27H3N01 KN 2 7 1 7 3 1 @IIJ:fJJ... 1 

1 6 +*ltf.t+~'l'*:; M5X65 

1 7 SJ!g~ 5 

1 8 1\PJ/\:ftJJ:J;t.:; M5X8 

1 9 +*ltMt-7-A-*:.J M3X6 

2 0 27HONOO KN271700 T:-9-77'r·1 t- 1 

2 1 2713NOO KN 2 7 1 8 3 0 .A-1 ·1f-.A~-~ 2 

2 2 95206 A 9 0 5 2 0 0 6 ~~'1t--A-1'17D4NC-2020 1 

2 3 1\ 1fJ It ft :1! )!, t- M4X30 

2 4 SJ!li~ 4 

2 5 5¥-HH~ 8 

2 6 1\PJ ltft .r. Jv t- M8X20 

2 7 96528 A 9 0 6 5 0 2 8 •J "'- ~ 7 Jv :r- 9 - RM-F7A12PEAA(7RHD30) 1 
• 1\PJ+':It-·"' 2 8 M8 

I ' ..... ~ 
2 9 2710NOO KN271800 m111 L.u<- n 7 - 1 

" 3 0 91202 A 9 0 1 2 0 0 2 .:1. .::. :1! - Jv :; a -1 / r NMB PR-6 1 

3 1 3376H HH330760 :1\PJiiUaf* 1 

3 2 1\PJ+ '1" M5 

3 3 3341C KC 3 3 0 4 1 0 c·17i!JUac'1 r: (2M) 2 

3 4 27H2NOO KN 2 7 1 7 2 0 T:-9-.A~-~ 1 

3 5 1\ PJ It f.t .r. Jv t- M6X55 

3 6 t- 7 .All\*:; M3X6 

3 7 .:t:-? l:'".f·1 t- M4 

' 

• 

i -51- (HI )5. 250~1 

jl_ - .. ·-From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



(@ *tl.J~~I&IJJ$ ill (8 E S R • 8 EX) 

- ~2-

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



®* tu ~ !IK ih iB m<BESR•BEX> 
11-1} ISJifi11~ A El 

-~ " 
Cl 

~ ma {jjft :It aq 

1 +=:J=J\f.t"!t 711'* ~ M4X8 

2 27E4C KC 2 7 1 4 4 0 t&lbSB"!t- I::' A 13 .... ~- 1 

3 3318C KC 3 3 0 1 8 0 137- ¢> 1 0 1 

4 7\fiJ/\f.tJJ::;l;f.~ M5X6 
: 

5 7\ flJ -r ·;I r M6 

6 .iJ!Rt!il 6 • 

7 7\ flJ 1\ M ;y. JL- r M 6 X 1 2 

8 27H1N01 KN 2 7 1 7 1 1 -r-~-777'!1 r11.1<- 1 

9 27J9NOO KN 2 7 1 9 9 0 -1:-9- Lo<- 1 

1 0 27H8N01 KN 2 7 1 7 8 1 m~ ln<- 1 

1 1 27H5NOO · KN 2 7 1 7 50 -r- 9- Lo<-IEJEfdl 1 

1 2 27N5NOO KN272350 .iJ!rr ~:· :,., ¢> 6 L=35 1 ~ 

1 3 7\ jfj 1\ f.t :f( Jl.- ~ M 4 X 1 0 

•• 1 4 27H4N01 KN 2 7 1 7 4 1 ,.: '!I~ 1 
-~ 1 5 271f3N01 KN271731 tilbtJ.L. 1 

[.· 
.. 

1 6 95205 A 9 0 5 2 0 0 5 ~17DA1'!17- V-01GL2255 1 

1 7 ~=:J=J\f.t ~ 7 Alj\;f. ~ M 3 X 1 5 

1 8 7\ jfj 1\ f;j' JJ: ;l * ~ M5X8 

1 9 +::J:/\f.tr?A.:t-~ M3X6 

2 0 2780NOO KN271700 -r-9-77'T'!I~ 1 
' 

2 1 2713NOO KN 2 7 1 8 3 0 A1'!1TA~-"!t 2 
: 

2 2 95206 A 9 0 5 2 0 0 6 ~~'!lrA1'!1rD4NC-2020 1 

2 3 7\ flJ 1\ M :r. Jv r M4X30 

2 4 l}!~~ 4 

2 5 SJ!~il 8 

2 6 7\ 1fJ 1\ t-:t :r. Jv r M8X20 

2 7 7\ 1fJ 1\ M :r. JL- r M5X8 

·I 2 8 7\ 1lJ 7- •'J ~ M8 
..... 2 9 2710NOO KN 2 7 1 8 0 0 IKIJJ tn< -13 7- 1 

.,. . 
3 0 91202 A 9 0 1 2 0 0 2 .:1. =- :r. - JL- ~ 3 1 / r NMB PR-6 1 

3 1 33768 HH330760 7\jfj)ifat$ 1 

3 2 7\flJr'!lr M5 

3 3 3341C KC 3 3 0 4 1 0 c '!I 7l!Hfti c ''J I" ( 2 M) 2 

3 4 .iJ!RI!il 5 

3 5 7\ flJ 1\ M :r. Jv r M6X55 

• 3 6 2782NOO KN 2 7 1 7 2 0 -1:-~-A~--f}- 1 

3 7 90528 A 9 0 6 5 0 2 8 •J "' - y 7 Jv -r - ~ - RM-F7A12PEAA(7R8030) 1 

. 3 8 .iJ!m!il 5 

3 9 +:j=J\ft-J-"''1'* ~ M5X65 

4 0 27E7C KC 2 7 1 4 7 0 iUiJDZM'T A -r- 1 

4 1 55NOOOO E B E 0 0 0 1 0 lfdJJ • tP ~IJJ diiHBII ~~~ 

4 2 95103 A 9 0 5 1 0 0 3 LY-2 •J v- 1 

4 3 +:j=J\f=t-J- "''1'* ~ M3X6 
: 

4 4 l::.:z.-.7:1A 1 

4 5 :t-~ ~:-r ·;~ r M4 

~l. 
-53- (81)5,250~! 

.. mar:=5FZ'iR'? 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



- r;.~ -
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



11-lt lmifi11-ij- &la~11-lt ~ 
Cl =S milt mt :If AA 

1 7A05PR3 1 H P 1 2 3 0 0 *!CC S R H - U F - 1 2 P=300 1 * . 2 2490F KF 2 4 0 9 0 0 /fultR:ti C/A.ll:r.lfi) 

3 +::f:!tft"!t-7tj\*:; M 4 X 1 2 

4 1\llJI\M.tJ:.;t*y M5X8 : 

5 i'\llJI\ft.tJ:.;l*:J M6X8 

6 i'\ 1fJ 1\ M :f. '" ,._ M 6 X 1 5 . j 

7 "<*m~ 6 
, 

8 SJ!ml~ 6 

9 7128F K F 7 1 0 2 8 0 /A.lL"C$ HX9 
HX6 

1 0 +::f:/\ft"!t 711'*:; M5X6 

1 1 ~ i'\ 1fJ ;f. Jt.. ,.. M8X20 

1 2 ll!ml~ 8 

1 3 ll!li~ 5 

1 4 rCt-1!1~- 5 

1 5 i'\ 1lJ -J- ".1 ,.. M5 

1 6 7179POO HP 7 1 0 7 9 0 /A.lL"C±it 4 

1 7 24A3G01 KG 2 4 1 0 8 1 .::;. ·:~ 13 * .lL m m I*J us ~X9 
HX6 

1 8 7130F KF 7 1 0 3 0 0 :ilt:)IC:tr -e •;t ,.. LAP4012K 15/25LG 1 

1 9 7116G01 KG 7 1 0 1 6 1 :ut:)IC:trxft±it 2 

2 0 i'\ 1lJ 1\ ft :f. Jt.. ,.. M8X45 

2 1 .. <*Hi~ 8 

2 2 !I! HI~ 8 ' 

2 3 i'\ 1fJ -J- •;t ,.. M 1 6 

2 4 ll!ml~ 1 6 

2 5 i'\ 1lJ It ft :f. Jl..- ,.. Ml6X180 

2 6 1290H HH120900 "7r'J~,..i?':l,.. 140X70 4 UfWtal 

2 7 1197C KC110970 "7~~~-A,.~':I,.: p 1 0 1 2 (lOOX 100) 4 IIII*JiaJ· 

) 

, 

I 

! 

-55- (HI)5.250 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



g 13 1i ~ jgJ ilii &: -5 . "' ... -y J!lli.-5 g 13 • -5 jg]ffii.-5 "'-~ Jtlli.-5 
1 H P 1 2 3 0 0 7A05PR3 5 5 1 A 9 0 5 6 0 0 7 95607 4 9 4 2 

1 L K C 4 5 0 0 2 0 7380C 3 3 1 3 A 9 0 5 6 0 1 0 95610 4 7 2 7 

A9010003 . 91003 2 3 2 2 A9056013 95613 4 9 . 3 6 

A 9 0 1 0 0 0 3 91003 2 5 4 5 A 9 0 6 5 0 2 8 96528 5 3 3 7 

A 9 0 1 0 0 0 6 91006 3 5 3 9 A 9 0 6 5 0 2 8 96528 5 1 2 7 

A 9 0 1 0 0 0 9 91009 1 3 2 2 EAY009A1 51J2CA1 4 3 1 

A 9 0 1 0 0 0 9 91009 1 5 4 EAY009A2 51j2CA2 4 3 2 1 

A9010011 91011 1 1 2 1 EAY009A3 51J2CA3 4 3 2 0 

A 9 0 1 1 0 1 7 91117 2 3 1 2 EAY010A2 51L2CA2 4 3 2 1 

A 9 0 1 1 0 1 7 91117 2 5. 1 2 EAY010A3 51L2CA3 4 3 2 0 

A 9 0 1 1 0 2 1 91121 1 1 2 3 EAY011A1 51J3CA1 4 5 1 

A 9 0 1 1 0 2 2 91122 1 1 3 8 EAY011A2 51J3CA2 4 5 4 

A 9 0 1 1 0 2 3 91123 1 ·l 2 2 EAY011A3 51J3CA3 4 5 2 1 

A 9 0 1 1 0 2 8 91128 3 3 1 1 EAY012A2 51L3CA2 4 5 4 

A 9 0 1 1 0 6 3 91163 3 5 2 1 EAY012A3 51L3CA3 4 5 2 1 

A 9 0 1 1 0 6 3 91163 3 9 1 6 EAY017Al 51G3NA1 4 1 2 5 

A 9 0 1 1 0 7 9 91179 .a 5 3 3 EAY017A2 51G3NA2 4 1 2 6 

A 9 0 1 1 0 7 9 91179 a· 9 5 0 EAY017A3 51G3NA3 4 1 2 2 

A 9 0 1 2 0 0 1 91201 2 9 5 9 EAY018A3 51G4NA3 4 1 2 2 

A 9 0 1 2.0 0 2 91202 2 9 4 0 E B E 0 0 0 1 0 55NOOOO 5 3 4 1 

A 9 0 1 2 0 0 2 91202 5 3 3 0 EBY00060 55C0050 4 3 4 

A 9 0 1 2 0 0 2 91202 5 1 3 0 EBY00080 55C0070 4 3 2 2 

A 9 0 1 2 0 0 3 91203 1 1 2 9 EBY00080 55C0070 4 5 7 

A 9 0 1 2 0 0 5 91205 1 1 2 9 EBY00090 55C0080 4 3 3 

A 9 0 1 2 0 0 7 91207 7 1 E B Y 0 0 1 1 0 55C0110 4 3 9 

A 9 0 1 2 0 5 2 91252 3 5 2 9 E B Y 0 0 1 1 0 55C0110 4 5 5 

A 9 0 1 2 0 5 2 91252 ·3 9 5 2 E B Y 0 0 1 5 0 55C0150 1 7 6 

A 9 0 1 2 0 5 8 91258 4 9 2 9 E B Y 0 0 1 5 0 55C0150 1 9 6 

A 9 0 1 2 0 6 6 91266 2 3 2 1 E B Y 0 0 1 5 0 55C0150 2 1 8 

A9012127 912C7 .. 4 9 2 6 E B Y 0 0 1 5 0 55C0150 2 1 1 8 

A9012137 91207 2 9 5 0 E B Y 0 0 1 8 0 55C0180 2 9 6 

A9012143 912E3 ·. 2 9 4 7 E B Y 0 0 1 9 0 55C0190 4 3 2 

A 9 0 1 2 2 0 3 912K3 2 9 6 0 EBY00260 55Y0020 4 5 9 

A 9 0 1 4 0 2 2 91422 1 1 4 1 EBY00270 55Y0030 4 5 1 0 

A 9 0 2 0 0 7 2 92027 2 3 6 0 EBY00290 55N0040 4 3 7 

A 9 0 2 0 0 7 2 92027 2 5 6 0 E B-Y 0 0 3 0 0 55N0050 4 3 7 

A 9 o 2 0 0 9 8 92098 3 5 1 3 E B Y 0 0 3 1 0 55N0060 4 3 6 .. . 
A 9 0 2 0 0 9 8 92098 3 9 3 3 EBY00320 55N0070 4 3 8 

A 9 0 5 1 0 0 3 95103 5 2 4 2 EBY00340 55Y0050 4 5 2 

A 9 0 5 2 0 0 2 95202 . 4 9 4 5 EBY00350 55Y0060 4 5 3 

A 9 0 5 2 0 0 5 95205 5 3 1 6 E B Y 0 0 4 1 0 55N0090 4 3 5 
··-

A 9 0 5 2 0 0 6 95206 5 3 2 2 EBY00450 55ROOOO 4 1 1 
A 9 0 5 2 0 0 6 95206 5 1 2 2 EBY00460 55R0010 4 1 2 

A 9 0 5 3 0 3 3 95333 3 7 1 2 EBY00470 55R0020 4 1 3 

A 9 0 5 3 0 3 3 95333 3 9 9 E B Y 0 0 4 8 0 55R0030 4 1 4 
From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



~I 

!iiJ 13 3 ~ I&Jiii3-5 ~-:/ J!tl:i3~ £ 13 3 -5 I&Jifiiil~ ~-:/ J!t!JJ;:~ 

EBY00490 55R0040 4 1 5 H P 2 4 1 1 4 0 24B4POO 1 3 2 
E B Y 0 0 5 1 0 55R0060 4 1 1 1 H P 2 4 1 1 5 0 2485POO 1 7 1 1 
EBY00520 55R0070 4 1 1 0 H P 2 4 1 1 5 0 ·2485POO 1 9 1 1 
E B Y 0 0 5 3 0 55R0080 4 1 8 H P 2 4 1 1 6 0 24B6POO 1 7 3 

E B Y 0 0 5 4 0 55R0090 4 1 7 H P 2 4 1 1 6 0 2486POO 1 9 3 

E B Y 0 0 5 5 0 55R0100 4 1 9 H P 2 4 1 1 7 0 24B7POO 
. 

1 7 9 

EBY00560 55R0110 4 1 1 2 H P 2 4 1 1 8 0 24H8POO 1 9 1 0 

EBY00570 55R0120 4 1 6 H P 2 4 1 1 9 0 2489POO 1 7 7 

EBY00590 55N0130 4 5 1 1 H P 2 4 1 2 0 0 .24COPOO 1 9 7 

E B Y 0 0 6 3 0 55R0140 4 1 2 8 H P 2 4 1 2 0 0 24B6POO 1 9 8 

EBY00640 55¥0100 4 5 9 H P 2 4 1 2 1 0 24C1POO 1 3 1 

EBY0500 55R0050 4 1 2 4 H P 2 4 1 3 7 1 24D7P01 1 7 4 

HH120900 1290H 5 5 2 6 H P 2 4 1 3 7 1 24D9POO 1 9 5 

• H H 3 2 0 5 5 0 3255H 2 3 3 6 H P 2 4 l 3 8 1 24D8P01 1 9 4 

HH 3 2 0 55 0 3255H 2 5 3 6 H P 2 4 1 3 9 0 24D9POO 1 7 5 

HH330760 3376H 5 3 3 1 H P 2 4 1 4 0 0 24EOPOO 1 7 1 3 

HH330760 3376H 5 1 3 1 H P 2 4 1 4 0 0 '24EOPOO 1 9 1 3 

HH 4 7 0 0 8 0 4708H 3 3 1 0 H P 2 4 1 4 1 0 24ElPOO 1 7 1 2 

HH481900 48JOH 3 7 1 6 H P 2 4 1 4 1 0 24E1POO 1 9 1 2 

HH481900 48JOH 3 9 2 H P 2 4 1 4 5 0 24B5POO 1 7 8 

HH 4 8 1 9 3 1 48j3H01 3 7 1 4 H P 2 4 1 4 6 0 2488POO 1 9 9 

HH 4 8 1 9 3 1 48J31101 3 9 6 H P 2 4 1 4 7 0 24H7POO 1 7 1 0 

HH481970 48J7H 3 5 1 5 HP250050 2&05POO 1 7 1 7 

HH 4 8 1 9 7 0 48J7H 3 9 1 7 HP250070 2507POO 2 1 1 0 

HH481980 48J8H 3 5 2 3 H P 2 5 0 5 8 1 2558P01 1 7 1 6 

HH481991 48J9H01 3 5 3 6 H P 2 5 0 5 8 1 2558P01 1 9 1 6 

HH 4 8 1 9 9 1 48J9H01 3 9 4 7 H P 2 5 0 5 8 1 2558P01 2 1 1 2 
" ! HH 4 8 2 1 1 0 48LIH 3 5 3 7 H P 2 5 0 6 2 0 2562POO 1 7 1 4 

HH482110 48L1H 3 9 4 8 H P 2 5 0 6 8 0 2568POO 2 1 1 3 

HH 54 0 1 0 0 5410H 3 1 1 4 H P 2 7 1 7 0 0 27HOPOO 5 1 2 0 

H P 2 3 1 2 9 0 23C9POO 1 1 1 8 H P 3 1 3 4 0 1 31YOP01 2 5 5 9 

H P 2 3 1 3 0 0 23DOPOO 1 1 1 5 H P 3 1 4 6 3 1 31DZP01 2 3 5 9 

H P 2 3 1 3 1 0 23DlPOO 1 1 1 7 H P 3 1 4 6 7 o 31EDP.OO 2 3 1 6 

H P 2 3 1 3 3 0 23D3POO 1 3 8 H P 3 1 4 6 7 0 31BDPOO 2 5 1 6 

H P 2 3 1 3 3 0 23D3POO 1 5 2 3 H P 4 6 0 8 0 0 4680POO 3 9 3 2 

H P 2 3 1 3 4 0 23D4POO 1 1 3 0 H P 4 6 0 8 1 o 4681POO 3 7 2 

H P 2 3 1 3 4 0 23D4POO 4 9 2 H P 4 8 2 8 3 1 48S3P01 3 5 1 0 

H P 2 3 1 3 7 0 23D7POO 1 1 1 6 H P 4 8 2 9 4 0 48T4POO 3 5 1 4 

H P 2 4 0 0 2 0 2402POO 1 3 7 H P 4 8 2 9 4 0 48T4POO 3 9 3 4 

II P 2 4 0 0 2 0 2402POO 1 5 6 H P 4 8 2 9 5 0 48T5POO 3 5 5 

H P 2 4 0 6 3 0 2563POO 1 9 1 4 HP482950 48T5POO 3 9 3 0 

H P 2 4 1 1 0 0 24BOPOO 1 5 1 H P 4 8 2 9 8 0 48T8POO 3 5 3 0 

H P 2 4 1 1 1 0 24BlPOO 1 7 2 HP482980 48T8POO 3 9 5 1 

HP24 1 1 2 0 24B2POO 1 9 2 H P 4 8 2 9 9 0 48T9POO 3 5 2 2 

H P 2 4 I 1 3 0 2483POO 1 3 2 HP482990 48T9POO 3 9 1 2 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



.. 
~I 

~ill 1§1 ~ ~ (g}ifii~~ ~-:,) J!t:fj~-5 5lJ 1§1 3 -5 lmiii~-5 ~-:,) J!t:fj~-5 

H P 4 8 3 1 1 1 48V1P01 3 9 2 6 KC 2 7 0 9 8 0 2798C 4 7 1 2 

HP483370 48X7POO ::J 9 2 7 K C 2 7 1 1 9 1 27B9C01 4 7 9 

H P 4 8 3 3 7 0 48X7POO 3 5 2 KC 2 7 1 2 0 1 27COC01 4 7 8 

H P 7 1 0.7 9 0 7179POO 5 5 1 6 K C 2 7 1 2 1 1 27C1C01 4 7 7 

K C 0 2 0 2 2 0 5222C 4 5 6 K C 2 7 1 2 2 0 27C2C 4 7 6 

KC110910 1191C 2 7 1 7 KC 2 7 1 4 4 0 27H4C 5 3 2 

KC110970 1197C 5 5 2 7 KC 2 7 1 4 4 0 27H4C 5 1 2 

KC 1 2 0 8 1 o 1281C 2 7 1 0 KC 2 7 1 4 7 0 27H7C 5 3 4 0 

K C 1 2 0 8 3 0 1283C 2 7 8 K C 2 7 1 4 8 0 27H8C 4 9 5 6 

K C 1 2 0 8 4 1 1284C01 2 7 9 KC 3 1 0 1 1 0 3111C 2 5 3 9 

KC 1 2 0 8 6 0 1286C 2 7 2 KC 3 1 0 1 2 0 3112C 2 5 3 9 

K C 1 4 0 3 3 0 1433C 2 7 6 K C 3 1 2 0 1 2 31K1C02 2 7 1 8 

K C 2 2 0 2 1 0 2221C 7 1 8 K C 3 1 2 1 9 0 31L9C 2 3 2 8 

K C 2 3 0 2 2 0 2322C 9 1 KC 3 1 2 1 9 0 31L9C 2 5 2 7 

KC 2 4 0 1 2 0 2412C 2 1 2 KC 3 1 2 2 1 0 31M1C 2 3 3 0 't 
K C 2 5 0 1 6 0 2516C 5 2 KC 3 1 2 2 1 0 31M1C 2 5 4 7 

K C 2 7 0 0 1 0 2701C 4 9 1 8 K C 3 1 2 8 0 0 31SOC 2 5 3 0 

KC270030 2703C 4 9 2 2 K C 3 1 2 8 5 1 31S5C01 2 3 2 3 

K C 2 7 0 0 5 0 2705C 4 9 2 3 K C 3 1 2 8 5 1 31S5C01 2 5 2 3 

K C 2 7 0 0 6 0 2706C 4 9 2 5 K C 3 1 2 8 9 0 31S9C 2 3 4 3 

K C 2 7 0 0 7 0 2707C 4 9 2 7 KC 3 1 2 8 9 0 31S9C 2 5 4 3 

K·c 2 1 o o 8 o 2708C 4 9 3 1 KC312911 31TlC01 2 3 3 2 

KC 2 7 0 1 0 1 2710C01 4 9 3 5 KC312911 31T1C01 2 5 3 2 

K C 2 7 0 1 1 0 2711C 4 9 5 3 KC 3 1 2 9 2 1 31T2C01 2 3 4 8 

K C 2 7 0 1 7 1 2717C01 4 9 3 0 KC 3 1 2 9 2 1 31T2C01 2 5 4 8 

KC 2 7 0 1 8 0 2718C 4 9 2 8 KC 3 2 0 1 1 1 3211C01 2 3 5 2 

K C 2 7 0 1 9 0 2719C 4 9 1 7 KC320111 3211C01 2 5 5 2 

K C 2 7 0 2 2 2 2722C02 4 9 1 9 K C-3 2 0 5 9 0 3259C 2 3 3 7 

KC 2 7 0 2 7 1 2727C01 4 9 1 2 K C 3 2 0 5 9 0 3259C 2 5 3 7 

KC 2 7 0 2 8 3 2728C03 4 9 1 0 KC 3 3 0 1 4 0 3314C 2 9 3 5 

KC270292 2729C02 4 9 1 4 KC 3 3 0 1 6 0 3316C 2 9 9 

K C 2 7 0 3 0 1 2730C01 4 9 1 1 K C 3 3 0 1 7 0 3317C 2 9 3 

K C 2 7 0 3 3 1 2733C01 4 9 4 0 K C 3 3 0 1 8 0 3318C 2 9 1 0 

K C 2 7 0 3 4 1 2734C01 4 9 5 2 K C 3 3 0 1 8 0 3318C 5 3 3 

KC 2 7 0 3 51 2735C01 4 9 4 7 K C 3 3 0 1 8 0 3318C 5 1 3 

K C 2 7 0 3 6 0 2736C 4 9 4 3 K-C 3 3 0 1 9 0 3319C 2 9 8 
K C 2 7 0 3 7 0 .2737C 4 9. 4 1 K C 3 3 0 2 1 0 3321C 2 9 2 5 

; ' 
K C 2 7 0 4 0 1 2740C01 4 9 2 1 KC 3 3 0 2 3 0 3323C 2 9 4 8 
KC 2 7 0 6 50 2765C 4 9 2 0 K C 3 3 0 2 6 0 3326C 2 9 3 1 

KC27070C 2770C 4 9 4 4 K C 3 3 0 2 8 0 3328C 2 9 2 

K C 2 7 0 7 2 0 2772C 4 9 6 K C 3 3 0 2 9 0 3329C 2 9 5 2 
KC270780 2778C 4 9 5 4 K C 3 3 0 3 1 0 3313C 2 9 7 
K C 2 7 0 9 5 0 2795C 4 7 1 3 KC 3 3 0 4 1 0 3341C 9 2 5 
l<C270960 2796C 4 7 1 1 K C 3 3 0 4 1 0 3341C 5 3 3 3 
KC270970 2797C 4 7 1 4 K C 3 3 0 4 1 0 3341C 5 1 3 3 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



lffi § • ~ ~ftii-~ ~-:/ J!ilifl~ lffi§Jt~ ~iii-~ ~-y Jll:f:l3-ij-
K C 3 3 0 5 1 0 3351C 2 9 3 8 K F 2 2 0 4 7 0 2247F 7 2 5 

K C 3 3 0 6 1 0 3361C 2 9 2 1 K F 2 2 0 4 8 0 2248F 7 2 6 

K C 3 3 0 8 1 0 3381C 2 9 2 7 K F 2 2 0 5 1 0 2251F 5 7 

K C 3 3 0 8 5 0 3385C 2 9 4 3 K F 2 2 0 7 5 0 2275FOO 5 9 

K C 3 3 0 9 1 0 3391C 2 9 3 2 K F 2 3 0 0 1 0 2301F 1 1 1 . 
KC450020 4502C 3 3 1 K F 2 3 0 1 2 0 2312F 1 1 2 0 

KC450470 4547C 3 7 4 K F 2 3 0 1 5 0 2315P 1 1 3 9 

K C 4 5 0 4 7 0 4547C 3 9 5 8 K F 2 3 0 1 5 0 2315F 2 9 2 2 

K C 4 7 0 4 6 0 4746C 3 9 5 3 K F 2 3 0 1 8 0 2318F 1 1 2 

K C 4 8 0 1 5 0 4815C 3 3 8 K F 2 3 0 2 1 0 2321F 1 1 4 

KC480160 4816C 3 3 7 K F 2 3 0 2 2 0 2322F 9 1 

K C 4 8 0 3 5 0 4835C 3 3 1 5 K F 2 3 0 2 3 0 ·. 2323F 1 1 8 

K C 5 2 0 0 2 0 5202C 4 1 1 9 KF230240 2324P 1 1 9 

~ ... K C 5 2 0 -0 2 0 5202C 4 3 1 7 KF230250 2325F 1 1 1 0 

K C 5 2 o o 2 o 5202C 4 5 1 8 KF 2 3 0 3 1 0 2331F 1 1 1 2 

K C 5 2 o 2 2 o 5222C 4 1 2 3 K F 2 3 0 3 2 0 2332F 1 1 1 1 

KC520220 5222C · 4 3 1 0 K F 2 3 0 3 3 0 2333F 1 1 2 4 

K C 3 1 2 2 2 0 0 31MOC 2 3 2 9 KF230350 2335F 2 9 1 8 

K C 3 1 2 2 2 0 0 31MOC 2 5 6 4 K F 2 3 0 3 6 0 2336F 2 9 1 7 

KC320310300 3231C 2 3 1 4 KF230420 2342F 7 3 

KC320310300 3231C 2 5 1 4 K F 2 3 0 4 5 0 2345F 1 1 1 4 

KC320930570 3293C 2 3 2 6 K F 2 3 0 4 8 0 2348F 1 1 1 9 

KC320930570 3293C 2 5 2 6 K F 2 3 0 5 0 0 2350F 9 3 

KC330310300 3331C 1 1 2 8 K F 2 3 0 5 1 2 2351F02 9 7 

KC13019123035 1319C 2 7 1 5 K F 2 3 0 5 2 1 2352F01 9 8 

K F 2 2 0 1 2 0 2212F 7 1 3 KF230580 2358F 9 4 

K F 2 2 0 1 3 0 2213F 7 1 5 KF230580 2358F 9 4 

I K F 2 2 0 1 4 0 2214F 7 5 KF230580 2358F 9 4 

K F 2 2 0 1 5 0 2215F 7 1 6 K F 2 3 0 5 8 0 2358F 4 9 9 

K F 2 2 0 1 6 0 2216F 7 9 K F 2 3 0 6 3 0 2363F 9 1 2 

K F 2 2 0 1 8 0 2218F 7 1 0 K F 2 3 0 6 3 0 2363F 2 9 5 7 

K F 2 2 0 1 9 0 2219F 7 1 7 K F 2 3 0 6 4 0 2364F 9 1 5 

K F 2 2 0 2 2 0 2222F 7 2 7 K F 2 3 0 6 4 0 2364F 4 7 4 0 

K F 2 2 0 2 3 0 2223F 7 2 4 K F 2 3 0 6 5 0 2365F 9 1 9 

K F 2 2 0 2 4 0 2224F 7 2 2 K F 2 3 0 6 6 1 '2366F01 9 2 6 

K F 2 2 0 2 5 0 2225F 7 2 3 KF230670 2367F 9 2 7 

K F 2 2 0 2 7 0 2227F 7 3 1 K F 2 3 0·9 1 0 2391F 1 1 6 

K F 2 2 0 2 9 0 2229F 7 2 8 K F 2 3 0 9 2 0 2392F 1 1 5 

K F 2 2 0 3 1 0 2231F 5 9 K F 2 3 0 9 3 0 2393F 1 1 7 

K F 2 2 0 3 1 0 2231F 4 7 1 5 K F 2 4 0 0 3 0 2403F 1 3 3 

K F 2 2 0 3 7 0 2237F 5 1 1 K F 2 4 0 0 3 0 2403F 1 5 3 

K F 2 2 0 3 7 0 2237F 4 7 2 3 K F 2 4 0 0 4 0 2404F 2 1 3 

K F 2 2 0 4 1 0 2241F 5 1 0 K F 2 4 0 0 6 0 2406F 2 1 1 

K F 2 2 0 4 5 0 2245F 7 1 9 K F 2 4 0 0 8 0 2408F 2 1 9 

K F 2 2 0 4 6 0 2246F 7 2 0 K F 2 4 0 3 9 0 2439F 2 1 6 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



sl 
~ § • -5 (gJ iii • -5 . ~-:; j!l:fj.-5 ~ §. ~ 18Iiliim:~ ~-:; J!l:fj·~ 

K F 2 4 0 4 2 0 2442F 1 3 1 6 K F 5 3 0 1 2 0 5312F 4 5 1 4 

K F 2 4 0 4 2 0 2442F 1 5 9 K F 5 3 0 1 5 0 5315F 4 l 1 7 

K F 2 4 0 4 3 0 2443F 1 3 9 K F 5 3 0 1 5 0 5315F 4 3 1 5 

K F 2 4 0 4 3 0 2443F 1 5 2 0 K F 5 3 0 1 5 0 5315F 4 5 1 6 

K F 2 4 0 4 4.0 2444F 1 3 1 0 K F 5 3 0 1 6 0 5316F 4 1 1 3 .. 
K F 2 4 0 4 4 0 2444F 1 5 2 1 K F 5 3 0 1 6 0 5316F 4 3 1 1 

K F 2 4 0 4 5 0 2445F 1 3 1 1 K F 5 3 0 1 6 0 5316F 4 5 1 2 

K F 2 4 0 4 5 0 2445F 1 5 2 2 K F 5 3 0 1 7 0 5317F 4 1 2 7 

K F 2 4 0 4 6 0 2446F 1 3 2 4 K F 5 3 0 1 7 0 5317F 4 3 2 3 

KF 2 4 0 4 6 0 2446F 1 5 7 K F 5 3 0 1 7 0 5317F 4 5 8 

K F. 2 4 0 4 7 0 2447F 1 3 2 3 K F 5 3 0 1 8 0 5318F 4 1 1 6 

K F 2 4 0 4 7 0 2447F 1 5 5 K F 5 3 0 1 8 0 5318F 4 3 1 4 

K F 2 4 0 4 8 0 2448F 1 3 1 5 K F 5 3 0 1 8 0 5318F 4 5 1 5 

K F 2 4 0 4 8 0 2448F 1 5 1 9 K F 5 3 0 1 9 0 5319F 4 1 1 4 

K F 2 4 0 4 9 0 2449F 1 3 1 4 K F 5 3 0 1 9 0 5319F 4 3 1 2 

K F 2 4 0 4 9 0 2449F 1 5 1 8 K F 5 3 0 1 9 0 5319F 4 5 1 3 

K F 2 4 0 6 1 0 2461F 1 3 1 7 K F 5 4 0 0 1 0 5401F 3 1 1 2 

K F 2 4 0 6 1 o 2461F 1 5 1 0 K F 5 4 0 1 1 0 5411F 3 1 8 

K F 2 4 0 9 0 0 2490F 5 4 2 K F 5 4 0 1 2 0 5412F 3 1 1 3 

K F 2 4 0 9 1 0 2491F 2 1 5 K F 5 4 0 1 3 0 5413F 3 1 7 

K F 2 4 0 9 3 1 2493F01 1 7 1 5 K F 5 4 0 1 4 0 5414F 3 1 6 

KF 2 4 0 9 3 1 2493F01 1 9 1 5 K F 5 4 0 1 6 0 5416F 3 1 2 

K F 2 4 0 9 3 1 2493F01 2 1 1 1 K F 5 4 0 1 7 0 5417F 3 1 4 

K F 2 4 1 6 0 0 24GOFOO 1 9 2 5 K F 5 4 0 1 8 0 5418F 3 1 1 

K F 2 4 1 6 1 0 2491FOO 1 7 2 5 K F 7 1 0 2 8 0 7128F 5 5 9 

K F 2 4 1 6 2 0 24G2FOO 2 1 1 8 K F 7 1 0 3 0 0 7130F 5 5 1 8 

K F 2 5 0 1 1 0 2511F 5 3 K F 7 3 0 7 9 0 7379F 3 3 1 4 

K-F 2 5 0 9 0 0 2590FOO 5 5 KG230020 2302G 1 1 3 

K F 3 2 0 0 4 0 3204F 2 3 5 1 KG230220 2322G 9 1 

K F 3 2 0 0 4 0 3204F 2 5 5 1 KG 2 3 0 3 4 0 2334G 1 1 1 3 

K F 3 2 0 0 5 0 3205F 2 3 5 1 KG 2 3 0 6 1 0 2361G 9 1 1 
K F 3 2 0 0 5 0 3205F 2 5 5 1 KG 2 3 0 6 1 0 2361G 2 9 5 6 
K F 3 2 0 5 1 0 3251F 2 3 5 5 KG 2 3 0 7 3 0 2373G 2 9 1 6 
K F 3 2 0 5 1 0 3251F 2 5 5 5 K G 2 4 1 0 2 0 24A2G 1 7 1 
K F 3 2 0 5 2 0 3252F 2 3 5 6 KG 2 4 1 0 2 0 24A2G 1 9 1 
K F 3 2 0 5 2 0 3252F 2 5 5 6 KG-2 4 1 0 3 1 24A3G01 5 5 1 7 
KF 3 2 0 9 1 0 3291F 2 3 5 3 KG 2 50 0 1 0 2501G I 9 1 7 

--·-- .. 
K F 3 2 0 9 1 0 3291F 2 5 5 3 K G 2 7 0 2 8 2 2728G02 4 9 1 0 
K F 3 3 0 3 8 1 3338F01 9 2 4 KG 2 7 0 3 1 0 2731G 4 9 7 
K.F 3 3 0 3 8 1 3338F01 1 1 2 7 KG 2 7 1 51 0 27F1G 4 9 5 7 
K F 5 3 0 1 1 0 5311F 4 1 1 5 K G 3 3 0 1 5 0 3315G 2 9 1 2 

---------- -·----- f-.-----·· 

K F 5 3 0 1 1 0 5311F 4 3 1 3 KG330220 3322G 2 9 1 4 
K F 5 3 0 1 1 0 5311F 4 5 1 4 KG 7 1 0 1 6 1 7116G01 5 5 1 9 
K F 5 3 0 1 2 0 5312F 4 1 1 5 KN 1 1 1 2 0 1 11 CON01 2 3 4 5 
K F 5 3 0 1 2 0 5312F 4 3 1 3 KN140950 1495NOO 2 7 7 

From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



51 
~ El 11 -5 ~ilfi-{j- ~-:,/ Jltf:ljt{j- lib§3~ ~iliiilf{j- ~-:/ !'li±IM=~ 

0 

KN150181 1518N01 2 7 - 1 3 KN 2 7 1 8 50 2715NOO 4 9 3 7 
KN150523 1552N03 2 7 1 KN 2 7 1 9 8 0 27J8NOO 4 6 2 
KN 1 6 0 52 0 1652NOO 2 7 1 4 KN 2 7 1 9 9 0 27J9NOO 5 3 9 
KN 2 2 0 1 1 0 2211NOO 7 8 KN 2 7 1 9 9 0 27J9NOO 5 1 9 

KN 2 3 0 4 1 0 2341NOO 7 4 KN272350 27N5NOO 5 3 1 2 
KN 2 3 0 4 3 0 2343NOO 7 2 KN272350 27N5Noo· 5 1 1 2 

KN 2 3 1 6 51 23G5N01 1 1 2 5 KN 3 1 2 8 1 0 31S1NOO 2 3 3 1 
• KN 2 3 1 6 6 1 23G6N01 1 1 2 5 KN 3 1 2 8 1 0 31S1NOO 2 5 3 1 

KN 2 3 1 6 7 1 23G7N01 1 1 2 5 KN 3 1 2 8 2 0 31S2NOO 2 3 3 5 

KN 2 3 1 7 0 0 23HONOO 1 1 2 6 KN 3 1 2 8 2 0 31S2NOO 2 5 3 5 

KN 2 3 1 7 1 1 23H1N01 1 1 4 0 KN 3 1 2 9 4 0 31T4NOO 2 3 8 

KN 2 3 1 7 2 1 23H2N01 1 1 4 0 KN 3 1 2 9 4 0 31T4NOO 2 5 8 

KN 2 3 1 7 3 1 23H3N01 1 1 4 0 KN 3 1 3 52 0 31Z2YOO 2 5 5 9 

( . KN 2 50 1 3 1 2513N01 4 6 4 3 KN 3 1 3 6 7 0 31AHNOO 2 3 2 0 

KN 2 50 9 1·0 2591NOO 5 4 KN 3 1 3 6 7 0 31AHNOO 2 5 2 0 

KN 2 7 0 1 6 0 2716NOO 4 9 5 KN 3 1 4 54 0 31DQNOO 2 3 4 

KN 2 7 1 52 1 27F2N01 4 6 1 KN 3 1 4 54 0 31DQNOO 2 5 4 

KN 2 7 1 56 0 27F6NOO 4 6 1 7 KN 3 1 4 59 1 31DVY01 2 5 5 9 

K N 2 7 1 6 0 1 27GON01 4 6 5 KN 3 1 4 6 0 1 31DWY01 2 5 5 9 

KN 2 7 1 6 1 0 27GINOO 4 6 4 KN 3 1 4 6 1 0 31DXNOO 2 5 5 9 

KN 2 7 1 6 2 0 27G2NOO 4 6 2 6 KN 3 1 4 6 2 0 31DYNOO 2 5 5 9 

KN 2 7 1 6 3 0 27G3NOO 4 6 3 2 KN 3 1 51 1 0 31FVNOO 2 3 1 7 

KN 2 7 1 6 4 1 27G4N01 4 6 3 6 KN 3 1 51 3 0 31FXNOO 2 3 1 5 

KN 2 7 1 6 52 27G5N02 4 6 2 8 KN 3 1 51 3 0 31FXNOO 2 5 1 5 

KN 2 7 1 6 6 2 27G6N02 4 6 2 9 KN 3 3 0 1 1 0 3311NOO 3 9 1 

K N 2 7 1 6 7 0 27G7NOO 4 6 2 1 KN 3 3 0 1 2 0 3312NOO 2 9 3 7 

KN 2 7 1 6 7 0 27G7NOO 4 6 2 1 KN330240 3324¥00 2 9 4 5 

KN 2 7 1 7 0 0 27HONOO 5 3 2 0 KN330250 3325YOO 2 9 4 6 

KN 2 7 1 7 1 2 27H1N02 5 3 8 KN 3 3 2 0 1 0 33K1NOO 2 9 3 7 

KN 2 7 1 7 1 2 27H1N02 5 3 8 KN451050 45A5NOO 3 9 5 5 

K N. 2 7 1 7 2 0 27Jf2NOO 5 3 3 6 KN460820 4682NOO 3 7 1 0 

KN 2 7 1 7 2 0 27H2NOO 5 1 3 6 KN460820 4682NOO 3 9 4 0 

KN 2 7 1 7 3 1 27H3N01 5 3 1 5 KN460830 4683NOO 3 7 6 

K N 2 7 1 ·7 3 1 27H3N01 5 1 1 5 J< N 4 6 o 8 ·a o 4683NOO 3 9 3 9 

K N 2 7 l 7 4 1 27H4N01 5 3 1 4 KN 4 7 0 1 51 4715N01 3 7 2 0 

KN 2 7 1 7 4 1 27H4N01 5 1 1 4 KN 4 7 0 1 6 1 4716N01 3 9 8 

K N 2 7 1 7 5 0 27H5NOO 5 3 1 1 KN480060 4806NOO 3 5 3 8 

KN271750 27H5NOO 5 1 1 1 KN480060 4806NOO 3 9 6 0 

KN271781 27H8N01 5 3 1 0 KN480400 4840NOO 3 3 2 

KN 2 7 1 7 8 1 2710NOO 5 1 1 0 KN482000 48KONoo· 3 5 3 1 

K N 2 7 I 8 0 0 2710NOO 5 3 2 9 KN482000 48KONOO 3 9 4 4 

KN 2 7 1 8 0 0 2713NOO 5 1 2 9 KN482010 48K1NOO 3 5 1 7 

K N 2 7 1 8 3 0 2713NOO 5 3 2 1 KN482870 48S7NOO. 3 5 3 

KN 2 7 1 8 3 0 2713NOO 5 1 2 1 KN482880 48S8NOO 3 5 4 

KN271840 2714NOO 4 9 3 8 KN482890 48S9NOO 3 9 1 1 

D From the library of Superior Sewing Machine & Supply LLC • www.supsew.com



~ § 3 -5 ~ffii·~ ~-:,/ Jtt±ilt~ 
0 § It 1=1 

18Jffii3~ ~-:,/ Jtt±iil-5 CD '5 

KN483400 48YONOO 3 5 2 7 

KN 4 8 3 4 1 0 48Y1NOO 3 9 3 7 

KN 4 8 3 4 4 0 48Y4NOO 3 5 1 2 

KN483450 48Y5NOO 3 5 2 6 

KN483450 48Y5NOO 3 9 3 6 

KN490120 4912NOO 3 9 1 5 

KN490130 4913NOO 3 9 1 4 

KN 4 9 0 1 4 0 4914NOO 3 9 1 3 

KN 4 9 0 1 50 4915N.OO 3 9 5 9 

KN 51 1 0 2 0 51A2NOO 2 3 4 0 

KN 51 1 0 2 0 51A2NOO 2 5 4 0 

KN45104032 45A4NOO 3 7 5 

KN51040012300 5140C 1 7 1 8 

KN51040012300 5140C 1 9 1 8 

KN51040012300 5140C 2 1 7 

MA330270 3327AOO 2 9 6 1 

MT230491 2349T01 9 2 

MT230831 2383T01 9 2 

MT230851 2385T01 9 2 

ww 3 1 0 2 1 0 3121WOO 2 3 3 4 

ww 3 1 0 2 1 0 3121WOO 2 5 3 4 

, . 

I From the library of Superior Sewing Machine & Supply LLC • www.supsew.com




